HiIETHZRT
CNC TOOL SYSTEMS
BR-10002 BT # #2435k J1# MILLING CHUCK ARBORS

MAS. BT

~

]
=

L1

mm
#= Model No. #= Model No.

BT X ER-L1 D D BTXER-L 1 D D
BT30 X ER16-70 28 31.75 BT45 X ER25-70 42 57.15
BT30 X ER20-70 34 31.75 BT45 X ER25-100 42 57.15
BT30 X ER25-70 42 31.75 BT45 X ER32-70 50 57.15
BT30 X ER32-70 50 31.75 BT45 X ER32-100 50 57.15
BT30 X ER40-80 63 31.75 BT45 X ER32-120 50 57.15
BT40 X ER16-70 28 44.45 BT45 X ER40-80 63 57.15
BT40 X ER20-70 34 4445 BT45 X ER40-100 63 57.15
BT40 X ER20-100 34 4445 BT45 X ER40-120 63 57.15
BT40 X ER20-150 34 44.45 BT50 X ER16-70 28 69.85
BT40 X ER25-60 42 44.45 BT50 X ER16-90 28 69.85
BT40 X ER25-70 42 4445 BT50 X ER20-70 34 69.85
BT40 X ER25-90 42 44.45 BT50 X ER20-90 34 69.85
BT40 X ER25-100 42 4445 BT50 X ER20-150 34 69.85
BT40 X ER25-150 42 4445 BT50 X ER25-70 42 69.85
BT40 X ER32-70 50 44.45 BT50 X ER32-70 50 69.85
BT40 X ER32-100 50 44.45 BT50 X ER32-80 50 69.85
BT40 X ER32-150 50 4445 BT50 X ER32-100 50 69.85
BT40 X ER40-70 63 44.45 BT50 X ER32-120 50 69.85
BT40 X ER40-80 63 44.45 BT50 X ER40-80 63 69.85
BT40 X ER40-150 63 44.45 BT50 X ER40-100 63 69.85
BT40 X ER50-100 78 44.45 BT50 X ER40-120 63 69.85
BT45 X ER16-70 28 57.15 BT50 X ER50-90 78 69.85
BT45 X ER20-70 34 57.15 BT50 X ER50-120 78 69.85

1. {THRHEER MR ER R, TR0k S E=2ME#HKLAR T, EFRAAD/BEL, 11BT40AD/BXER32-70,

2. IRIBEFEFRENTFE W, #FEREAG6.3/12000rpm, 1EZ1EE 4G2.5/20000rpm, TTHIETE £ EAHEE,

1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage
hilt, please mark AD/B.

2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
precision is G2.5/20000rpm.

R E
Q WAL |



BHIETRZRT HIETRRT

CNC TOOL SYSTEMS CNC TOOL SYSTEMS
BR-10004 DIN69871 #4545k 714§ MILLING CHUCK ARBORS BR-10006 CAT #4583k 7148 MILLING CHUCK ARBORS

DING9871

—
\@ 4

L1

Lt

mm
mm
A= =)

DINGOB7 L AXER L D Dr DINGOB7 1 AXER L D Dr AR odel No. D D1 B L% Model No. D D1
DIN69871.A30 X ER11-80 19 31.75 DIN69871.A40 X ER40-80 63 44.45 CATA0XER16.63 o8 YT CATA0XER50.80 8 YWT
DIN69871.A30 X ER16-63 28 31.75 DIN69871.A40 X ER40-100 63 44.45 CATA0XER16.70 58 4145 CAT20 < ER50-100 -8 4145
DIN69871.A30 X ER20-63 34 31.75 DIN69871.A40 X ER40-150 63 44.45 CAT40 X ER16-100 28 44.45 CAT50 X ER16-70 28 69.85
DIN69871.A30 X ER25-63 42 31.75 DIN69871.A40 X ER50-100 78 4445 CAT40 X ER16-150 28 44 .45 CAT50 X ER16-90 28 69.85
DIN69871.A40 X ER11-80 19 44.45 DIN69871.A50 X ER16-70 28 69.85 CAT40 X ER20-70 34 44.45 CAT50 X ER16-100 28 69.85
DIN69871.A40 X ER16-63 28 44.45 DIN69871.A50 X ER16-100 28 69.85 CAT40 X ER20-90 34 44.45 CAT50 X ER20-70 34 69.85
DIN69871.A40 X ER16-70 28 44.45 DIN69871.A50 X ER20-70 34 69.85 CAT40 X ER20-100 34 44.45 CAT50X ER20-90 34 69.85
DIN69871.A40 X ER16-100 28 44.45 DIN69871.A50 X ER20-100 34 69.85 CAT40XER20-150 34 4445 CAT50 X ER20-100 34 69.85
DIN69871.A40 X ER20-70 34 44.45 DIN69871.A50 X ER25-70 2 69.85 CAT40 X ER25-70 42 4445 CAT50XER20-150 34 69.85
DIN69871.A40 X ER20-100 34 44.45 DIN69871.A50 X ER25-100 42 69.85 CATA0XER25-90 42 44.45 CATS0XER25-70 42 69.85

CAT40 X ER25-100 42 44.45 CAT50 X ER25-100 42 69.85
DIN69871.A40 X ER25-60 42 44.45 DIN69871.A50 X ER25-150 42 69.85 CAT40 X ER25-150 5 2445 CATS0 X ER25-150 5 60.85
DIN69871.A40 X ER25-70 42 44.45 DIN69871.A50 X ER32-80 50 69.85 CATA0 X ER32-70 %0 4245 CATS0XER32-70 20 69.85
DIN69871.A40 X ER25-100 42 44.45 DIN69871.A50 X ER32-100 50 69.85 CAT40 X ER32-100 50 4445 CAT50 X ER32-80 50 6985
DIN69871.A40 X ER25-150 42 44.45 DIN69871.A50 X ER40-80 63 69.85 CAT40 X ER32-150 50 44.45 CAT50 X ER32-100 50 69.85
DIN69871.A40 X ER32-70 50 44.45 DIN69871.A50 X ER40-120 63 69.85 CAT40 X ER40-70 63 44.45 CAT50 X ER40-80 63 69.85
DIN69871.A40 X ER32-80 50 44.45 DIN69871.A50 X ER50-90 78 69.85 CAT40 X ER40-80 63 44.45 CAT50 X ER40-100 63 69.85
DIN69871.A40 X ER32-100 50 44.45 DIN69871.A50 X ER50-100 78 69.85 CAT40X ER40-100 63 44.45 CAT50XER50-90 /8 69.85
DIN69871.A40 X ER32-150 50 44.45 DIN69871.A50 X ER50-150 78 69.85 CATA40xER40-150 63 4445 CAT50xER50-100 78 69.85
. VTTEERHEERA TIARRIARAER S, Otk Sk =2 K2E0R0 714K, 15FRRFAD/BEY, 2NDIN69871.40AD/BXER32-70, RIFEEMRMEEIM, FERBEHNG6.3/12000rpm, BZFEE 4G2.5/20000rpm, 1T ATE i EHEIKEE.
 IRBEFEFRESFEE I, REBEHG6.3/12000rpm, 1EZ1EE 4G2.5/20000rpm, iTHIRTE iE B EIREE. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage precision is G2.5/20000rpm.

hilt, please mark AD/B.
. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
precision is G2.5/20000rpm.

Tﬁfﬁﬁ#ﬁl (A) EImE L

RUITOOLS BORUITOOLS



HIETHZRT HiIEITHZRT

CNC TOOL SYSTEMS CNC TOOL SYSTEMS
BR-10008 BT $:#iZ 2 R &2 (REZ!) MORSE TAPER(WITH TANG) BR-10010 DIN 45 2 K T2 % (RRE2) MORSE TAPER WITH TANG

MAS. BT

L1

|l L

mm
)=
BTXMTNO.L L D % Wilkg) g
BT30XMTA1-45 934 25 31.75 0.55
BT30XMTA2-60 108.4 32 31.75 0.90
BT30XMTA3-80 128.4 40 31.75 0.90
BT40 X MTA1-45 1104 25 44.45 1.20 mm
BT40XMTA2-50 1154 32 44.45 1.55 L=
BT40 X MTA2-60 1254 32 44.45 1.65 D|N6:9|=8-I;'|,Y;{Rogle\/ll'll§l.ﬁb.-L 1 L D Di EE Wt(kg)
BT40 X MTA3-70 1354 40 4445 1.80 DIN69871.A30 X MTA1-50 97.8 25 31.75 0.55
BT40XMTA3-75 140.4 40 44.45 1.90 DIN69871.A30 X MTA2-60 107.8 32 31.75 0.80
BT40x MTA4-90 1554 48 4445 2.30 DIN69871.A30 X MTA3-75 122.8 40 31.75 0.85
BT40XMTA4-95 1604 18 44.45 240 DIN69871.A40 X MTA1-45 113.4 25 44.45 1.20
BT40XMTA4-135 200.4 48 44.45 2.65
BT45 X MTA1-120 202.8 25 5715 1.90 DIN69871.A40 X MTA1-50 118.4 25 44.45 1.30
BT45 X MTA2-120 2028 3 5715 230 DIN69871.A40 X MTA2-50 1184 32 44.45 150
BT45 X MTA3-120 202.8 40 57.15 2.40 DIN69871.A40 X MTA2-60 128.4 32 44.45 1.56
BT45 X MTA4-98 180.8 48 57.15 2.40 DIN69871.A40 X MTA3-75 1434 40 44.45 1.80
BT50 X MTA1-45 146.8 25 69.85 410 DIN69871.A40 X MTA4-95 163.4 48 4445 2.40
BT50XMTA2-50 151.8 32 69.85 4.00 DIN69871.A50 X MTA1-45 146.75 25 69.85 4.05
BT50XMTA2-60 161.8 32 69.85 4.20 DIN69871.A50 X MTA2-60 161.75 32 69.85 4.40
BT50XMTA2-120 221.8 32 69.85 4.30 DIN69871.A50 X MTA3-65 166.75 40 69.85 4.50
BT50XMTA3-65 166.8 40 69.85 4.20 DIN69871.A50 X MTA4-95 196.75 48 69.85 4.90
BT50 X MTA3-75 1768 40 6985 4.30 DIN69871.A50 X MTA5-100 201.75 61 69.85 5.10
B0 XMIAS10 2210 i 0.8 440 DIN69871.A50 X MTA5-105 206.75 61 69.85 5.15
BT50XMTA3-150 251.8 40 69.85 4.68
BT50XMTA4-95 196.8 i3 i 200 1. (TR IR, MOk SR R AR A EIRITIA, 7ERBAD/BEL 1DINGOS71 40AD/BXMT3-75,
BIB9S 20018 8 i >00 2. IREBEARMAH TN, AR HG6.3/12000rpm, HEEZHERE 5G2.5/20000rpm, STRIRH 0 B AL,
. VTR ERR IR RER R, T OdkSiEZ8M K2 589714k, 5HREAAD/BE!, 11BT40AD/BXMTA3-75., 1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
. RBFEAREINTEEIM, ERBEANG6.3/12000rpm, FEETEE HG2.5/20000rpm, 1T EHE iF A EKREE. please mark AD/B.
. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage 2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the
hilt, please mark AD/B. precise precision is G2.5/20000rpm.

. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm,
the precise precision is G2.5/20000rpm.

EImiE L (A (A H3miE L

BORUI TOOLS BORUITOOLS



HIETHZRT HIEITHZRT

CNC TOOL SYSTEMS CNC TOOL SYSTEMS
BR-10012 CAT $EHIZ X R TZE (REE) MORSE TAPER WITH TANG BR-10014 2 KL2E(FHIE!) MORSE TAPER(WITH DRAWBAR)

D1

@ MS. NO
—1J|
L1
L
#1-= Model No. L D D TEHE
BT XMT.NO.-L1 Figure
BT40 X MTB1-45 110.4 25 1
mm BT40 X MTB2-60 125.4 32 1
= BT40 X MTB3-75 140.4 40 2
C:A:&,l\\/‘/l(%fjl\? (I)I.\{Ei L D D =& W(kg) BT40 X MTB3-90 155.4 40 4445 2
CAT40 X MTA1-45 113.25 25 44.45 1.30 BT40 X MTB4-95 160.4 48 3
CAT40 X MTA2-63 131.25 32 44.45 1.70 BT40 X MTB4-100 165.4 48 2
CAT40 X MTA3-75 143.25 40 44.45 2.00 BT50 X MTB1-45 146.8 25 1
CAT40 X MTA4-100 168.25 48 44.45 2.50 BT50 X MTB2-45 146.8 32 1
CAT45 X MTA1-40 122.55 25 57.15 2.70 BT50 X MTB2-60 161.8 32 1
CAT45 X MTA2-50 132.55 32 57.15 3.80 BT50 X MTB3-60 161.8 40 1
CAT45 X MTA3-73 155.55 40 57.15 4.20 BT50 X MTB3-75 176.8 40 69.85 1
CAT45 X MTA4-95 177.55 48 57.15 4.60 BT50 X MTB4-80 181.8 48 3
CAT45 X MTA5-125 207.55 61 57.15 5.50 BT50 X MTB4-100 201.8 48 2
CAT50X MTA1-40 141.6 25 69.85 4.00 BT50 X MTB5-100 201.8 63 3
CAT50 X MTA2-50 151.6 32 69.85 4.00 BT50 X MTB5-120 221.8 63 2
CAT50XMTA2-135 236.6 32 69.85 5.00 1 REERHIMRERRNERERNHIZET
CAT50 X MTA3-63 164.6 40 69.85 4.50 P aj%‘.Zﬁﬁaja'qmmﬁm ﬂfﬁ%ﬁgﬁgg q%:ﬁgﬁggﬁi :ﬁ
bkttt Lty 251.6 0 S 2l 431: Eiéﬁiﬁ%ﬂfﬁ,ﬁgﬁ ;gmrbﬁfjk—%iﬂa}éﬁmm% i‘%‘nﬁﬁ'fmm, {&HRABAD/BEL, ANBT40AD/BXMTB3-75,
CAT50 X MTA4-85 186.6 48 69.85 4.80 5. IREREIRES T IM, SRR HG6.3/12000rpm, FEEHERE G2.5/20000rpm, TTRIRTIE E R BLAHEE.
CAT50 X MTA5-105 206.6 61 69.85 5.20 Note:1. See figure 1,when the arbor being used, it is necessary to fix inner hex screw.

. See figure 2,when the arbor bein used, it is necessary to fix standard knob,please note when order it.

. See figure 3,when the arbor being used, it is necessary to fix extension knob,please onte when order it.

. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage
hilt, please mark AD/B.

. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the
precise precision is G2.5/20000rpm.

O MHRI g o BHAT 7

TOOLS BORUI TOOLS

HwWN

IRBEEMRMEN TG I, FRERESG6.3/12000rpm, HEHZHEE HG2.5/20000rpm, TTHIEH IS AAHEE.
According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
precision is G2.5/20000rpm.

(9}



HIETRZRT BT HZRT

CNC TOOL SYSTEMS CNC TOOL SYSTEMS
BR-10016 DIN $#{#5 E K B2 E (/542! MORSE TAPER(WITH DRAWBAR) BR-10018 CAT $i##5 5 R T2 E(/542) MORSE TAPER(WITH DRAWBAR)

Note:l. Seefigure 1,when the arbor being used,it is necessary to fix inner hex screw.

S REE s e
DIN6987 1MX)?IS|ITI.\II\?6.-L1 L D D jF_i}jue T BEO T
DIN69871.A40XMTB1-45 113.4 25 1 =
DIN69871.A40XMTB2-60 128.4 32 1 5
DIN69871.A40XMTB3-70 138.4 40 3
DIN69871.A40XMTB3-80 148.4 40 44.45 2 mm
DIN69871.A40XMTB3-100 168.4 40 2 #12 Model No =M
DIN69871.A40XMTB4-90 158.4 48 3 CATXMT.NO.-Li L D D Figure
DIN69871.A40XMTB4-100 168.4 48 2 CAT40 X MTB1-45 113.25 25 1
DIN69871.A50XMTB1-45 146.8 25 1 CAT40 X MTB2-60 128.25 32 1
DIN69871.A50XMTB2-45 146.8 32 1 CAT40 X MTB3-75 143.25 40 2
DIN69871.A50XMTB3-60 161.8 40 1 CAT40 X MTB3-90 158.25 40 44.45 2
DIN69871.A50XMTB3-80 181.8 40 1 CAT40 X MTB4-100 168.25 48 2
DIN69871.A50XMTB4-80 181.8 48 69.85 3 CAT50 X MTB2-60 1616 31.75 1
DIN69871.A50XMTB4-90 191.8 48 2 CAT50 X MTB3-60 161.6 4128 69.85 1
DIN69871.A50XMTB4-120 221.8 48 2 CAT50 X MTB4-90 1916 50.8 2
DIN69871.A50XMTB5-100 201.8 61 3 CAT50 X MTB5-100 2016 69.85 3
DIN69871.A50XMTB5-120 221.8 61 2
DL REETFRE IEE AR SR EN N AT i \REETFATHIMERRETERNNAET
2. i%ZFﬁiﬁ?mﬁﬁmﬁ?‘igﬁﬁggg . w%ﬂ?}gﬁgﬁiggﬁggg 2R EE2FRE TIARE B B B R B AR ERIST, TR I ER$TIE R
TR R s ST K Dk BN A S0, HIRRAD/BL, WDING9S71 4OAD) o, S Bl VL i S e o TR R ) e e
BXMTB3-70. ARFEFETMREINFETIM, FRERBEAHG6.3/12000rpm, FEZTEE 4G2.5/20000rpm, (TR EEAEE.
5. IRIBSEFREFE M, RERBEHG6.3/12000rpm, FEZTEE 4G2.5/20000rpm, iTHETE iE R EIAIEE, Note:l See figure 1,when the arbor being used,it is necessary to fix inner hex screw.

. Wt . 2See figure 2,when the arbor being used,it is necessary to fix standard knob,please note when order it.
2. See figure 2,when the arbor bein used,it is necessary to fix standard knob,please note when order it.

3 s X e : . 3See figure 3,when the arbor being used, it is necessary to fix extension knob,please onte when order it.

. See figure 3,when the arbor being used,it is necessary to fix extension knob,please onte when order it. : ) . ; S

4. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage 4According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the
hilt, please mark AD/B. precise precision is G2.5/20000rpm.

5. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the

HIRE T (a) (a) HIRE T 9

BORUI TOOLS BORUI TOOLS



HIETHZRT

BR-10020 BT s##i#=#h#%++ DRILL CHUCK ARBORS

CNC TOOL SYSTEMS

y:ﬂ:ﬂ\FT b

NO.S

—|

8]

L

CNC TOOL SYSTEMS

HiIEITHZRT

BR-10022 DIN $###=$44%4F DRILL CHUCK ARBORS

7

DIN69871. A

|

W

NO. S

)

L1

L2

mm

£l Model No. R =
BT-NO.S-L 1 L2 L D Dr Drawbar thread ~ Wt(kg)
BT30-J1-45 16.669 110 9.754 3175 M12 0.60
BT30-J2-45 22225 1156 14199 31.75 M12 0.70
BT30-J3-45 30.956 1244 20599 3175 M12 0.80
BT30-J6-45 254 1188 17.170 31.75 M12 0.75
BT30-J33-45 254 118.8 15.850 31.75 M12 0.75
BT30-B10-45 14.5 107.9 10.094 31.75 M12 0.60
BT30-B12-45 185 1119 12.065 31.75 M12 0.60
BT30-B16-45 2 1174 15.733 31.75 M12 0.70
BT30-B18-45 32 125.4 17.780 31.75 M12 0.82
BT40-J1-45 16.669 127.1 9.754 44.45 M16 115
BT40-J2-45 22225 1326 14.199 44.45 M16 125
BT40-J25-45 19.05 1294 13.940 44.45 M16 1.20
BT40-J3-45 30.956 1414 20599 44.45 M16 145
BT40-J4-45 42.069 1525 28.550 44.45 M16 155
BT40-J5-45 47.625 158 35.890 44.45 M16 1.60
BT40-J6-45 254 135.8 17.170 44.45 M16 130
BT40-J33-45 254 135.8 15.850 44.45 M16 130
BT40-B10-45 14.5 124.9 10.094 44.45 M16 1.40
BT40-B10-120 145 199.9 10.094 44.45 M16 176
BT40-B12-45 185 1289 12.065 44.45 M16 134
BT40-B16-32 24 1214 15.733 44.45 M16 1.40
BT40-B16-45 2 134.4 15.733 44.45 M16 145
BT40-B16-75 24 164.4 15.733 44.45 M16 155
BT40-B16-90 2 179.4 15.733 44.45 M16 1.40
BT40-B18-45 32 1424 17.780 44.45 M16 1.70
BT40-B18-75 32 1724 17.780 44.45 M16 176
BT50-J1-45 16.669 1635 9.754 69.85 M24 3.60
BT50-J2-45 22225 169 14.199 69.85 M24 3.95
BT50-J25-45 19.05 165.9 13.940 69.85 M24 3.90
BT50-J3-45 30956 177.8 20599 69.85 M24 3.70
BT50-J4-45 42.069 188.9 28.550 69.85 M24 3.75
BT50-J5-45 47625 194.4 35.890 69.85 M24 3.80
BT50-J6-45 254 1722 17.170 69.85 M24 4.00
BT50-J33-45 254 1722 15.850 69.85 M24 4.00
BT50-810-45 14.5 1613 10.094 69.85 M24 3.60
BT50-B10-100 14.5 216.3 10.094 69.85 M24 3.80
BT50-B12-45 18.5 1653 12.065 69.85 M24 3.60
BT50-B16-45 2 170.8 15.733 69.85 M24 3.65
BT50-B16-60 24 185.8 15.733 69.85 M24 3.70
BT50-816-75 24 200.8 15.733 69.85 M24 3.74
BT50-B16-90 24 2158 15.733 69.85 M24 3.78
BT50-B18-45 32 1788 17.780 69.85 M24 3.70

10 H3maE L (a)

BORUI TOOLS

mm
#1-= Model No. L2 L D D R
DIN69871.A-NO.S-L1 Drawbar thread

DIN69871.A40-J0-32 11.112 111.5 6.35 4445 M16
DIN69871.A40-J1-32 16.669 117 9.754 4445 M16
DIN69871.A40-J2-32 22.225 122.6 14.199 4445 M16
DIN69871.A40-J2S-32 19.05 119.5 13.940 4445 M16
DIN69871.A40-J3-32 30.956 1314 20.599 4445 M16
DIN69871.A40-J4-32 42.069 142.5 28.550 4445 M16
DIN69871.A40-J5-32 47.625 148 35.890 4445 M16
DIN69871.A40-J6-32 254 125.8 17.170 4445 M16
DIN69871.A40-J33-32 254 125.8 15.850 4445 M16
DIN69871.A40-B6-32 10 1104 6.35 4445 M16
DIN69871.A40-B10-32 14.5 114.9 10.094 4445 M16
DIN69871.A40-B10-45 14.5 127.9 10.094 4445 M16
DIN69871.A40-B12-32 18.5 118.9 12.065 4445 M16
DIN69871.A40-B12-80 18.5 166.9 12.065 4445 M16
DIN69871.A40-B16-26 24 118.4 15.733 4445 M16
DIN69871.A40-B16-32 24 1244 15.733 4445 M16
DIN69871.A40-B16-45 24 137.4 15.733 4445 M16
DIN69871.A40-B18-32 32 1324 17.780 4445 M16
DIN69871.A40-B18-45 32 1454 17.780 4445 M16
DIN69871.A40-B22-32 40.5 140.9 21.793 4445 M16
DIN69871.A40-B24-32 50.5 150.9 23.825 4445 M16
DIN69871.A50-B16-45 24 170.75 15.733 69.85 M24
DIN69871.A50-J3-45 30.965 177.7 20.599 69.85 M24
DIN69871.A50-J6-45 254 172.1 17.170 69.85 M24
DIN69871.A50-J33-45 254 172.1 15.850 69.85 M24
DIN69871.A50-B16-45 24 170.8 15.733 69.85 M24
DIN69871.A50-B18-45 32 178.8 17.780 69.85 M24
DIN69871.A50-B22-60 40.5 202.3 21.793 69.85 M24
DIN69871.A50-B24-60 50.5 212.3 23.825 69.85 M24

A/

e 11



HIETRZRT HIETHZRT

CNC TOOL SYSTEMS CNC TOOL SYSTEMS
BR-10024 CAT $##= $5#%4F DRILL CHUCK ARBORS BR-10026 #{Kkz= gLk SELF-FASTEN DRILL CHUCK
-
NO. S
=) 2 /—%
—
L1 L2 D
L dh 2
[L.
mm :_; =
#1-2 Model No. L2 L D DI AT é !
CAT-NO.S-L1 Drawbar thread i R
CAT40-)2-45 22.225 135.5 14.199 44.45 5/8"-11 - .
CAT40-J3-45 30.956 144.2 20.599 44.45 5/8"-11
CAT40-)4-45 42.069 155.3 28.55 44.45 5/8"-11
CATA0-J6-45 254 138.65 17.17 44.45 >/8"11 BT/APU A §h%sk  SELF-FASTEN DRILL CHUCK
CAT40-J33-45 25.4 138.65 15.85 44.45 5/8"-11
CAT40-B16-45 24 137.25 15.733 44.45 5/8"-11 B = EEWt
CAT40-B18-45 32 145.25 17.780 44.45 5/8"11 Model No. b . L D d ¢ R (kg)
CAT45-J1-45 16.669 144.2 9.754 57.15 3/4™-10 BT30XAPU8-80 80 1374 25 37 6 0.04 0.72
CATA45-J2-45 22.225 150 14.199 57.15 3/4"-10 BT30XAPU13-110 110 170.4 75 46 50 13 0.04 1.85
CAT45-)3-45 30.956 158.5 20.599 57.15 3/4"-10 BT30XAPU16-110 110 180.4 80 57 16 0.04 2.18
CAT45-)4-45 42.069 169.6 28.55 57.15 3/4"-10 BT40XAPU8-85 85 159.4 55 37 6 0.04 1.46
CAT45-)5-45 47.625 175.2 35.89 57.15 3/4"-10 BT40XAPU13-100 100 177.4 75 50 13 0.04 2.00
CAT45-J6-45 254 153 17.17 57.15 3/4™-10 BT40XAPU16-105 105 187.4 80 63 57 16 0.04 2.33
CAT45-J33-45 25.4 153 15.85 57.15 3/4"-10 BT50XAPUS-90 9 200.8 55 37 6 0.04 416
CAT45-B10-45 14.5 142 10.094 57.15 3/4-10 BT50XAPU13-100 100 213.8 75 50 13 0.04 470
CATA45-B12-45 18.5 146 12.065 >7.15 3/4-10 BT50XAPU16-105 105 223.8 80 100 57 16 0.04 5.03
CAT45-B16-32 24 138.6 15.733 57.15 3/4"-10
CAT45-B16-45 24 151.6 15.733 57.15 3/4"-10
CAT45-B18-45 32 159.6 17.780 57.15 3/4"-10 DIN69871/APU Z{k sk SELF-FASTEN DRILL CHUCK
CAT50-J2-45 22.225 168.85 14.199 69.85 1"-8 = ==
CAT50-J3-45 30.956 177.56 20.599 69.85 1"-8 Model No. L L L D dh & R (kg)
CAT50-J4-45 42.069 188.67 28.55 69.85 1"-8 DIN69871.30XAPUS-80 80 139.8 55 37 6 0.04 0.60
CATS0-J5-45 47.625 194.23 35.89 69.85 L8 DIN69871.30XAPU13-120| 120 179.8 75 50 50 13 0.04 1.45
CATSG16315 254 e el 095> L8 DIN69871.30XAPU16-125| 125 179.8 75 57 16 0.04 1.78
CAT50-J33-45 25.4 172 15.85 69.85 1"-8
TR T e e T304 T T DIN69871.40XAPU8-75 75 155.4 55 37 6 0.04 1.46
T P en ToicE YT T8 DIN69871.40XAPU13-100| 100 180.4 NG 50 13 0.04 2.00
CAT50-B16-60 2 185.6 15773 69.85 18 DIN69871.40XAPU16-115| 115 195.4 80 57 16 0.04 2.33
CAT50-B18-60 32 193.6 17.780 69.85 1"-8 DIN69871.50XAPU8-75 75 188.75 55 87 6 0.04 3.86
CAT50-B22-60 405 202.1 21.793 69.85 1"-8 DIN69871.50XAPU13-100| 100 213.75 o 50 13 0.04 4.40
CAT50-B24-60 50.5 212.1 23.825 69.85 == DIN69871.50XAPU16-105| 105 218.75 80 57 16 0.04 4.73

12 ﬁf%#ﬁl (A (a) HmE T 13

XUl TOOLS BORUI TOOLS



HETRRT HEIRARTS

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

BR-10028 BT/FMA FE#t7J4F BT/FMA SHELL MILL ARBORS BR-10030 BT/FMB FE#t 74+ BT/FMB SHELL MILL ARBORS

K
Fig2 See*
MAS BT

nﬁﬂ%//// ’“.'

LTI' |‘ Er‘ “‘:

- -IHE)
(PR

Vo N L L L D d b Ki K E(%‘)’Vt
. BT30XFMB22-45 | 114.4 45 18 50 22 26 48 10 0.85
] i L L b p & " o | EEW BT30XFMB22-60 | 126.4 60 18 50 22 26 4.8 10 1.25
Model No. (kg) BT30XFMB27-45 | 113.4 45 20 60 27 31.5 5.8 12 1.20
BT30 X FMA25.4-45 1134 | 45 20 50 | 2540 | 315 | 452 | 952 1.10 BT30 XEMB27-60 | 128.4 60 20 60 7 315 g 1 135
BT30XFMA25.4-60 128.4 60 20 50 25.40 31.5 4.52 9.52 1.30 BT30XFMB32-45 | 115.4 45 22 78 32 41 6.8 14 1.35
BT30XFMA31.75-45 | 1154 | 45 22 60 | 3175 | M 670 | 1270 | 1.35 BT40XFMB22-45 | 128.4 45 18 48 22 26 48 10 1.45
BT40 X FMA25.4-45 1304 | 45 20 50 | 2540 | 315 | 452 | 952 1.80 BT40XFMB22-60 | 143.4 60 18 48 22 26 48 10 1.70
BT40 X FMA25.4-60 1454 | 60 20 50 | 2540 | 315 | 452 | 952 | 2.00 BT40xXFMB22-100| 173.4 100 18 48 22 26 4.8 10 2.20
BT40 X FMA25.4-90 1754 | 90 20 50 2540 | 315 | 452 | 952 2.60 BT40XFMB27-45 | 1304 45 20 60 27 31.5 5.8 12 1.60
BT40XFMA25.4-105 | 190.4 | 105 20 60 | 25.40 | 315 | 452 | 952 | 2.70 BT40xFMB27-60 | 1454 60 20 60 27 31.5 5.8 12 2.00
BT40XFMA31.75-45 | 1324 | 45 2 60 | 3175 | 41 670 | 1270 | 2.00 BT40XFMB27-30 | 1754 20 20 60 27 315 | 58 12 | 230
BT40XFMA31.75-75 | 1624 | 75 22 60 | 3175 | 4 670 | 1270 | 2.70 Eljg i Em:ggf‘ ggj 14055 ;g 32 ;; 3;5 2:2 :i ?;g
BT40XFMA31.75-90 | 177.4 | 90 22 60 | 3175 | 4 670 | 1270 | 2.90 BTA0XFMB32:60 | 1474 50 > 28 2 e 53 ” 510
BT40 X FMA38.1-60 1504 | 60 25 75 | 3810 | 445 | 887 | 1587 | 2.80 BT20 XFMB40-60 | 1504 S T 20 20 28 23 1 > 80
BT40XFMA50.80-60 | 151.4 | 60 36 98 | 50.80 | 68 9.75 | 19.05 | 4.00 BT50 XEMB22-45 | 1648 45 18 48 2 %6 18 16 450
BT50 X FMA25.4-45 166.8 45 20 50 25.40 31.5 4.52 9.52 4.40 BT50XFMB22-90 | 209.8 90 18 48 22 26 4.8 10 5.10
BT50 X FMA25.4-90 2118 | 90 20 50 | 2540 | 315 | 452 | 952 | 5.10 BT50 XFMB22-150| 369.8 150 18 48 22 26 48 10 6.80
BT50XFMA25.4-150 | 271.8 | 150 20 50 | 2540 | 315 | 452 | 952 | 6.10 BT50XFMB27-50 | 171.8 50 20 60 27 315 5.8 10 7.00
BT50XFMA31.75-45 | 168.8 | 45 22 60 | 3175 | 4 670 | 1270 | 4.50 BT50XFMB27-90 | 211.8 90 20 60 27 315 5.8 10 8.00
BT50 X FMA31.75-75 1988 | 75 22 60 31.75 | 41 6.70 | 1270 | 5.30 BT50XFMB27-150, 271.8 150 20 60 27 31,5 5.8 12 7.50
BT50X FMA31.75-105 | 228.8 | 105 22 98 | 3175 | 41 670 | 1270 | 5.70 BT50XFMB32-50 | 173.8 50 22 78 32 4 6.8 12 9.50
BTS0XFMA38.10-45 | 1718 | 45 25 80 | 38.10 | 445 | 887 | 1587 | 4.80 BT50XFMB32-20 | 2138 20 £ L 22 =L 6.8 12 _L.110
BT50XFMA38.10-75 | 2018 | 75 25 80 | 3810 | 445 | 887 | 1587 | 6.00 EI? g i Emgjg:g g ;Zg:g ; g ;z zz :g 22 ::g :i z :ng
BT50XFMA50.80-45 | 1728 | 45 36 98 | 50.80 | 68 9.75 | 19.05 | 5.70 S TEVEECE e o > o 20 8 55 i =55
BT50XFMA50.80-75 | 2028 | 75 36 98 | 50.80 | 68 9.75 | 19.05 | 6.80 e S DT P e — oE s o - o — E00
BT50XFMA47.62-75 | 2088 | 75 32 | 12875 | 4762 | - 12.50 | 25.40 | 7.90 BT50 <X EMBG0-75 | 2018 75 5 140 50 . 125 16 720
1ITHEIEERIMETRER K. WH Ok 5E=2MEH KK TR, 5ERAD/B, 1ATHRHEE A DMERERR. MER UK S %L ENERH KGN T, &EHAD/B.
2 RFEFREARENFEIIM, +REIEEAG6.3/12000rpm, FETEE 4G2.5/20000rpm, TTHRTIE I BIKHE. 2IREEEAIR SN TETIM, FERSE 5G6.3/12000rpm, HEEHEEE #G2.5/20000rpm, STRIRTE B Bk,
LVglggrs]eor:?aerrereDa/Ee indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, 1.W|hen orde:( please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
2. According to r_1ee<_.js to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the Z.Kcigigirr?; rtoﬁle)(/e?i.s to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
precise precision is G2.5/20000rpm. precision is G2.5/20000rpm.

14 BInfE L (A (A Jfﬁfﬁ‘ﬁ*ﬁIA 15

BORUI TOOLS BORUI T0O



HIETHZRT HiIEITHZRT

BR-10034 BT ##iziB SN XK I BR-20036 DIN $t#iz iR &6 A5t 71+
BR-10032 DIN69871/FMB E &t 71#F DIN69871/FMB SHELL MILL ARBORS i .
COMBI SHELL END MILL ARBORS COMBI SHELL END MILL ARBORS
MAS. BT
sy
S T
—
L
mm mm
TYPE FS £1= Model No. D D BEE A= Model No. D DI BEE
ON 6357-8 BT X d-L1 Wt(kg) DIN69871.Axd-L1 Wt(kg)
dz BT30X 16-55 32 31.75 1.00 DIN69871.A30 X 16-55 32 31.75 1.00
BT30X22-55 40 31.75 1.20 DIN69871.A30 X 22-55 40 31.75 2.00
BT30X27-55 48 31.75 1.20 DIN69871.A30X 27-55 48 31.75 2.10
BT30X32-60 58 31.75 1.50 DIN69871.A30X 32-60 58 31.75 1.80
BT30X40-60 70 31.75 2.30 DIN69871.A30X 40-60 70 31.75 7.30
BT40X 16-55 32 44 .45 1.20 DIN69871.A40 X 16-55 32 44.45 1.20
B S L L L BEEWt BT40X16-100 32 44 .45 1.50 DIN69871.A40 X 16-100 32 44 .45 1.50
Model No. ! 2 D d d Ki Ka (kg)
BT40 X 22-55 40 44.45 1.25 DIN69871.A40 X 22-55 40 44 .45 1.23
DIN69871.A30XFMB22-35 | 1008 | 18 14 26 47 47 48 | 10 | 1.00 BT40 X 22-100 40 44.45 1.85 DIN69871.A40%22-100 | 40 | 4445 | 1.83
DIN69871.A30 X FMB27-35 102.8 20 16 31.5 58 58 5.8 12 1.05 BT40 X 27-55 48 44.45 1.50 DIN69871.A40 X 27-55 48 44.45 1.30
DIN69871.A40 X FMB22-35 1214 18 14 26 47 47 4.8 10 1.20 BT40X27-100 48 44 .45 2.00 DIN69871.A40X 27-100 48 44.45 2.20
DIN69871.A40 X FMB27-60 148.4 20 16 315 58 58 5.8 12 1.80 BT40%32-60 58 44.45 1.50 DIN69871.A40%X 32-60 58 44.45 1.50
DIN69871.A40XFMB32-60 | 1504 | 22 6 | 41 | 66 | 66 | 68 | 14 | 230 g;‘gi 2(2)_;30 gg ;‘j-:: i'gg g::gg:z -228 X ig‘;go gg 32-22 ?-gg
- . . . X 40- . .
. X - . . . .
DIN69871.A40 X FMBA40-60 153.4 25 20.5 48 82 82 8.3 16 2.58 BT40x40-100 70 44 .45 3.00 DIN69871.A40X40-100 70 44 .45 3.00
DIN69871.A50XFMB22-35 | 15475 | 15 4 | 26 | 47 | 47 | 48 | 10 | 340 BT50X 16-63 32 69.85 3.60 DING69871.A50X16-63 | 32 | 69.85 | 3.50
DIN69871.A50XFMB27-35 | 156.75 | 20 16 | 315 | 58 58 58 | 12 3.50 BT50% 16-100 32 69.85 4.00 DIN69871.A50X16-100 | 32 | 69.85 | 3.80
DIN69871.A50 X FMB32-35 158.75 22 16 41 66 66 6.8 14 3.70 BT50X%22-70 40 69.85 3.70 DIN69871.A50X 22-70 40 69.85 3.60
DIN69871.A50 X FMB40-50 189.75 25 20.5 48 82 82 8.3 16 4.70 BT50X%22-100 40 69.85 4.00 DIN69871.A50X22-100 40 69.85 4.00
DIN69871.A50 X FMB50-60 | 211.75 | 30 % | 68 | 95 %5 | 97 | 19 | 580 BT50%27-70 48 69.85 4.00 DIN69871.A50 X 27-70 48 | 69.85 [ 3.70
DIN69871.A50X FMB4OF-60 | 1584 | 30 | 667 | M12 | 89 | 8 | 83 | 159 | 2.90 BT>0x27-100 | 48 69.85 440  DIN69871.A50%27-100 | 48 | 6985 | 4.40
DING9371.A50 X EMBA0E-70 | 201.75 30 665.7 M12 89 89 83 15.9 550 BT50X32-70 58 69.85 4.20 DIN69871.A50X 32-70 58 69.85 3.80
. . : : : : : BT50X32-100 58 69.85 4.70 DIN69871.A50X 32-100 58 69.85 4.70
DIN69871.A50 X FS40-60 154.4 26 66.7 50 110 110 8.3 16 3.20 BT50x 40-100 70 69.85 5.50 DIN69871.A50 X 40-100 70 69.85 5.30
DIN69871.A50 X FS40-70 211.75 26 66.7 50 110 110 8.3 16 5.70 BT50X50-75 90 69.85 4.60 DIN69871.A50 X 50-75 90 69.85 4.50
DIN69871.A50 X FS60-70 196.75| 25 | 1016 | M16 | 140 140 | 125 | 254 | 5.50 BT50%50-125 90 69.85 7.20 DIN69871.A50X50-125 | 90 69.85 | 7.20
13THRHEER IR ER K, WEROHKSE=2MEEK LI 1K, FiEAAD/B, 1.3THMEHEER TIMetRER R, WFE ROk SE=2N K LE0 74, 15+REAAD/BEL,1NBT40AD/BX32-60,
2IRFEHEEZAMREIEE M, EREAG6.3/12000rpm, #FE4HEE 4G2.5/20000rpm, iTHRE i BKEE. 2IRIEHF Z AR M TEE I, FREREE AG6.3/12000rpm, B HEE 4G2.5/20000rpm, ITHRTIE £ R IRERE,
1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, 1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B. please mark AD/B.
2.According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise 2.According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
precision is G2.5/20000rpm. precision is G2.5/20000rpm.

]6 HIREL ¢y o T%—ﬁ}iﬁﬁ#‘%lﬁ 1 7

BORUI TOOLS BORUI TOOLS



HETRRT BT HZRT

CNC TOOL SYSTEMS CNC TOOL SYSTEMS
BR-10038 {2 =424 774% ANGULAR MOUNTING SQUARE BITE BORING ARBORS BR-10040 E faZ!##=#A5 714k STRAIGHT MOUNTING SQUARE BITE BORING ARBORS

MAS.BT
MAS. BT

-
&
b

i

mm

mm = D D1 L W BERATIES

E1S Model No. . D DI L W ERAANES S Model No. min max Type of square cutter
min | max Type of square cutter BT45-T2C25-120 25 40 20 120 8 F8-82-24

BT40-TQC25-150 25 38 20 150 8 F8-45-32 BT45-TZC38-150 38 60 30 150 10 F10-82-36
BT40-TQC30-150 30 42 24 150 8 F8-45-36 BT45-TZC50-165 50 70 40 165 13 F13-82-48
BT40-TQC38-150 38 52 30 150 10 F10-45-48 BT45-TZC72-195 72 100 60 195 19 F19-82-70
BT40-TQC42-150 42 56 34 150 10 F10-45-52
BT40-TQC50-150 50 65 40 150 13 F13-45-62 —
BT40-TQC62-150 ) 90 %0 150 6 F16-45-80 BR-10042 BT s###=325%714F END MILL ADAPTERS
BT40-TQC72-150 72 110 60 150 19 F19-45-92
BT45-TQC25-180 25 38 20 180 8 F8-45-32 QMT\ -
BT45-TQC30-180 30 42 24 180 8 F8-45-36 M TP
BT45-TQC38-200 38 52 30 200 10 F10-45-48 / T
BT45-TQC42-200 42 56 34 200 10 F10-45-52 \LM B
BT45-TQC50-200 50 65 40 200 13 F13-45-62
BT45-TQC50-230 50 65 40 230 13 F13-45-62 - -
BT45-TQC62-200 62 90 50 200 16 F16-45-80
BT45-TQC62-270 62 90 50 270 16 F16-45-80 mm
BT45-TQC72-200 72 110 60 200 19 F19-45-92 %15 Model No. L D D 1> 3 8 Wi(kg)
BT45-TQC72-270 72 110 60 270 19 F19-45-92 BTXd-L1
BT45-TQC72-250 72 110 60 250 19 F19-45-92 BT30x6-50 98.4 25 31.75 18 0.66
BT45-TQC90-200 90 125 75 200 19 F19-45-118 BT30 % 6-60 108.4 25 31.75 18 0.72
BT45-TQC90-250 90 125 75 250 19 F19-45-118 BT30%8-60 108.4 28 31.75 18 0.80
BT50-TQC25-150 25 38 20 150 8 F8-45-32 BT30%10-60 108.4 35 31.75 20 0.83
BT50-TQC30-170 30 42 24 170 8 F8-45-36 BT30%10-80 1284 35 31.75 20 0.83
BT50-TQC38-170 38 52 30 170 10 F10-45-48 BT30 12-60 108.4 42 31.75 225 0.88
BT50-TQC42-180 42 56 34 180 10 F10-45-48 BT30 X 14-60 108.4 44 31.75 225 1.02
BT50-TQC50-200 50 65 40 200 13 F13-45-62 BT30X 16-75 123.4 48 31.75 24 1.04
BT50-TQC62-250 62 90 50 250 16 F16-45-80 BT30% 18-75 123.4 50 31.75 24 1.26
BT50-TQC72-250 72 110 60 250 19 F19-45-92 BT30%20-75 123.4 52 31.75 25 1.36
BT50-TQC90-250 90 125 75 250 19 F19-45-118 BT30X25-90 138.4 65 31.75 24 25 1.50

18 tﬁﬁﬁ%%ﬂq o O HHET 19

BORUI TOOLS BORUI TOOLS



HIETHRHZRT

BR-10044 ##=32%t714F END MILL ADAPTERS

CNC TOOL SYSTEMS

mm
22 Model No. L D D1 L2 E &£ Wi(kg)
BT40X6-50 115.4 25 44 .45 18 0.96
BT40 X 6-60 125.4 25 44 .45 18 0.98
BT40 X 8-50 115.4 28 44 .45 18 1.00
BT40X10-63 128.4 35 44 .45 20 1.08
BT40X12-63 128.4 42 44 .45 22.5 1.20
BT40X 14-63 128.4 44 44 .45 22.5 1.22
BT40X 16-63 128.4 48 44 .45 24 1.24
BT40X16-70 135.4 48 44 .45 24 1.30
BT40X 18-63 128.4 50 44 .45 24 1.36
BT40X20-63 128.4 52 44 .45 25 1.36
BT40X%20-70 135.4 52 44 .45 25 2.10
BT40X25-90 155.4 65 44 .45 24 25 2.07
BT40Xx25-100 165.4 65 44 .45 24 25 2.08
BT40X%32-100 165.4 72 44 .45 24 28 2.25
BT40%x32-110 175.4 72 44 .45 24 28 2.30
BT40Xx40-120 185.4 90 44 .45 30 32 2.50
BT40Xx40-140 205.4 90 44 .45 30 32 2.80
BT50X6-63 164.8 25 69.85 18 3.20
BT50 X 8-63 164.8 28 69.85 18 3.23
BT50%X 10-63 164.8 35 69.85 20 3.24
BT50X% 12-80 181.8 42 69.85 22.5 3.36
BT50 X% 16-80 181.8 48 69.85 24 348
BT50%20-80 181.8 52 69.85 25 3.52
BT50X%25-100 201.8 65 69.85 24 25 4.28
BT50X25-105 206.8 65 69.85 24 25 430
BT50X%25-150 251.8 65 69.85 24 25 4.35
BT50X%25-200 301.8 65 69.85 24 25 4.40
BT50X%32-100 201.8 72 69.85 24 28 4.44
BT50x32-105 2068 72 69.85 2 28 456
BT50X40-115 2168 90 69.85 30 32 458
BT50X40-120 2138 90 69.85 30 32 458
BT50X50-150 2518 100 | 69.85 35 35 490

1. TTHRHEERR TIRER AR R, MFFOEKSEZEMEEKS LTI, SHREAAD/BE, WBT40AD/BX12-63,
2. RBFFEMIRMFEIMN, EREEAG6.3/12000rpm, FHZ1EE #G2.5/20000rpm, 1T EHE E A B A5 E.
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,

please mark AD/B.

2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise

precision is G2.5/20000rpm.

L eniubs,

CNC TOOL SYSTEMS

BT HZRT

BR-10046 DIN $##=325%714#F END MILL ADAPTERS

__ DING9871. A

Ls L2

mm
—

DR comodel No. L D D L2 3 2 Wi(kg)
DIN69871.A30X 6-50 97.8 25 31.75 18 0.58
DIN69871.A30X 8-50 97.8 28 31.75 18 0.64
DIN69871.A30X 10-50 97.8 35 31.75 20 0.72
DIN69871.A30X 12-50 97.8 42 31.75 225 0.80
DIN69871.A30X 16-50 97.8 48 31.75 24 0.96
DIN69871.A40 X 6-50 118.4 25 4445 18 0.92
DIN69871.A40 X 8-50 118.4 28 4445 18 0.96
DIN69871.A40 X 10-50 118.4 35 44.45 20 2.00
DIN69871.A40X 12-50 118.4 42 4445 225 1.12
DIN69871.A40 X 14-50 118.4 44 4445 225 1.12
DIN69871.A40X 16-63 1314 48 4445 24 1.20
DIN69871.A40X 18-63 1314 50 4445 24 1.20
DIN69871.A40X20-63 1314 52 4445 25 1.32
DIN69871.A40X25-100 168.4 65 4445 24 25 2.04
DIN69871.A40X32-100 168.4 72 4445 24 28 2.24
DIN69871.A40X40-120 188.4 90 4445 30 32 2.40
DIN69871.A50 X 6-63 164.75 25 69.85 18 3.30
DIN69871.A50X 8-63 164.75 28 69.85 18 3.40
DIN69871.A50X 10-63 164.75 35 69.85 20 3.42
DIN69871.A50X 12-63 164.75 42 69.85 225 3.42
DIN69871.A50X 14-63 164.75 44 69.85 225 3.44
DIN69871.A50X 16-63 164.75 48 69.85 24 3.46
DIN69871.A50X 18-63 164.75 50 69.85 24 3.48
DIN69871.A50X20-63 164.75 52 69.85 25 4.24
DIN69871.A50X 25-80 181.75 65 69.85 24 25 4.40
DIN69871.A50X32-100 201.75 72 69.85 24 28 4,52
DIN69871.A50X40-120 221.75 a0 69.85 30 32 4,72

1. ITRHEERR TIRRAR AR . anFEH Ok SiE=2MmEtKSEIR 7R, 15HREAAD/BEL, 1NDIN69871.40AD/BX12-50,
IRBEEMREN &M, #REMRBEAG6.3/12000rpm, #EZEE AG2.5/20000rpm, THARTEEATEE.
1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,

please mark AD/B.

2.According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
precision is G2.5/20000rpm.

(A E3mE L 2]

BORUI TOOLS



HIETHZRT

BR-10048 CAT ##iz

CNC TOOL SYSTEMS

3Lt 7J%F END MILL ADAPTERS

L2

-

mm
A=
i?%(ol)d-f_hNo. L D Di L2 13
CAT40X3/16"-2~1/2" 131.8 19.05 14.3
CAT40X1/4"-2~1/2" 131.8 20.64 19.8
CAT40X5/16"-2~1/2" 131.8 22.22 19.8
CAT40X3/8"-2~1/2" 131.8 32 19.8
CAT40X7/16"-2~1/2" 131.8 31.75 22.2
CAT40X1/2"-2~5/8" 134.9 4445 44.45 22.2
CAT40X5/8"-3~3/4" 163.5 44.45 23.8
CAT40X3/4"-3~3/4" 163.5 44.45 25.4
CAT40X7/8"-4" 169.9 52 27 22.2
CAT40X1"-4" 169.9 63 28.6 25.4
CAT40X1~1/4"-4~1/8" 173 69.85 28.6 25.4
CAT50X3/8"-4~1/2" 215.9 31.75 19.8
CAT50X3/8"-6~1/2" 266.7 31.75 19.8
CAT50X1/2"-2~5/8" 168.3 4445 22.2
CAT50X1/2"-4~5/8" 219.2 4445 22.2
CAT50X5/8"-3~3/4" 196.85 4445 23.8
CAT50X5/8"-5~3/4" 247.7 4445 23.8
CAT50X3/4"-3~3/4" 196.85 4445 25.4
CAT50X3/4"-5~3/4" 247.7 44.45 25.4
CAT50X7/8"-3~3/4" 196.85 52 60.85 27 22.2
CAT50X7/8"-5~3/4" 247.7 52 27 22.2
CAT50X1"-4" 203.2 63 28.6 25.4
CAT50X1"-6" 254 63 28.6 25.4
CAT50X1~1/4"-4" 203.2 69.85 28.6 25.4
CAT50X1~1/4"-6" 254 69.85 28.6 25.4
CAT50X1~1/2"-4" 203.2 69.85 28.6 25.4
CAT50X1~1/2"-6" 254 69.85 28.6 25.4
CAT50X2"-5~5/8" 244.5 69.85 30.2 36.5
CAT50X2"-7~5/8" 295.3 69.85 30.2 36.5

IR Z RN &I, REREBEAG6.3/12000rpm, HEZHERE 4G2.5/20000rpm, (TS ERMERE.

According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
precision is G2.5/20000rpm.

22 #3m 45 L (a)

BORUI TOOLS

BT HZRT

CNC TOOL SYSTEMS

BR-10050 BT #i#=5% /1 714% MILLING CHUCK ARBORS

MAS. BT-

D1
I
|
|
|

DIN69871

mm
=
*E?“Q‘K/?f.'ﬂ?“ d D D
BT40 xMC1686 16 50
BT40 X MC20-90 20 56
BT40 X MC20-100 20 56
BT40 X MC20-135 20 56
BT40 X MC25-100 25 63 1045
BT40 X MC25-105 25 63
BT40 X MC32-100 32 70
BT40 X MC32-105 32 70
BT40 X MC32-135 32 70
T BT40 X MC42-115 2 90
g BT50 X MC20-100 20 56
%J BT50 X MC32-110 32 70
BT50 X MC32-150 32 70 69.85
i BT50 X MC42-120 22 90
BT50 X MC42-150 2 90
BT50 X MC42-165 2 90
BR-10052 DIN69871 #i#=5& /1 714% MILLING CHUCK ARBORS .
=
D:I'?\l1g—9,§l;) 1d ilnlx\:gln d D Di
DIN69871.40 X MC16-90 16 50
DIN69871.40XMC20-100 | 20 56
DIN6987140XMC20-120 | 20 56
DIN69871.40XMC25-105 | 25 63 2ass
DIN69871.40XMC32-100 | 32 70
DIN6987140XMC32-105 | 32 70
DIN69871.40XMC32-135 | 32 70
DIN6987140XMC42-135 | 42 9
DIN69871.50XMC20-110 | 20 56
DIN69871.50 X MC20-150 | 20 56
% DING69871.50 X MC32-150 | 32 70
DIN6987150XMC32-165 | 32 70 69.85
B DIN69871.50 X MC42-120 | 42 9
DIN69871.50XMC42-150 | 42 90
DIN69871.50 X MC42-165 | 42 9
T

BORUI TOOLS

23



x %

#z 7
COLLET SERIES

BR-100522 3#4{RZEIXF 714" ELASTIC EXPANSION TAPPING THE HANDLE

D1

L1

HIETHZRT

CNC TOOL SYSTEMS

BR-10054 MAS403-1982 #i$¥] RETENTION KNOB

BS D L1 D1
BT40-TER25-90 90 42
BT40-TER32-100 44.45 100 50
BT40-TER40-105 105 60
BT50-TER25-90 90 42
BT50-TER32-100 69.85 100 50
BT50-TER40-105 105 60

D1

L1

8BS D L1 D1
DIN69871.40-TER25-80 80 42
DIN69871.40-TER32-90 44.45 90 50
DIN69871.40-TER40-95 95 60

24 BHEL g

mm
#1= Model No. D Di D2 M L L1 L2 H Hi 6
LDB-P30T(O) 12.5 7 11 M12 43 23 18 5 2.5 45° 60° 90°
LDB-P40T(O) 17 10 15 M16 60 35 28 6 3 45° 60° 90°
LDB-P45T(0) 21 14 19 M20 70 40 31 8 4 45° 60° 90°
LDB-P50T(O) 25 17 23 M24 85 45 35 10 5 45° 60° 90°
BR-10056 JIS B6339-1986 #i1$T RETENTION KNOB
\ /] /30"
2 777777777 [I:; ¥/l 7777Q:7 T D«
N — 5 fffff
mm
#1= Model No. D D1 D2 M L L1 L2 H H
LDJ-30P 125 8 12 M12 43 234 18.4 5 3
LDJ-35P 125 11 15 M12 44 24 19 5 3
LDJ-40P 17 14 19 M16 54 29 23 7 3
LDJ-45P 21 17 23 M20 60 30 23 7 4
LDJ-50P 25 21 28 M24 74 34 25 7 5
LDJ-55P 31 27 36 M30 98 48 36 11 7
BR-10058 DIN69872-1988 $ii$] RETENTION KNOB
A L B ——
=T TR T
= %\)V a S Miylii }
mm
£S5 Model No. D D1 D2 M L L1 L2
LDD-30A(B) 13 9 13 M12 44 24 19
LDD-40A(B) 17 14 19 M16 54 26 20
LDD-45A(B) 21 17 23 M20 65 30 23
LDD-50A(B) 25 21 28 M24 74 34 25

O MHmL )5



HIEITHZRT

CNC TOOL SYSTEMS

BR-10060 ANSI/ASME B5.50-1985 #i$T RETENTION KNOB

iy
{ ****** T
A |
- i mm
#15 Model No. Di D2 M L L1 L2 H Hi
LDA-30 9.78 13.21 1/2"-13 27.94 11.68 8.13 2.54 1.01
LDA-40 12.45 18.80 5/8"-11 38.10 16.26 11.18 3.05 1.52
LDA-45 15.37 23.88 3/4"-10 45.72 20.83 14.73 4.06 2.03
LDA-50 20.83 28.96 1"-8 58.42 254 17.78 5.08 2.54
BR-10062 1SO/DIS7388/2-1984A #i$] RETENTION KNOB
\}\yn
mm
£1-= Model No. D Di D2 M L L1 L2 H Hi
LDI-30A 13 8 12 M12 44 24 19 4 3
LDI-40A 17 14 19 M16 54 26 20 4 4
LDI-45A 21 17 23 M20 65 30 23 5 5
LDI-50A 25 21 28 M24 74 34 25 6 7
BR-10064 1SO/DIS7388/2-1984B #7$] RETENTION KNOB
== EH} Ry
mm
#I 5 Model No. D Di D2 M L L1 L2 H Hi
LDI-30B 13 9.3 13.3 M12 27 11.8 8.1 2.7 1.2
LDI-40B 17 12.95 18.95 M16 445 16.4 11.15 3.25 1.75
LDI-45B 21 16.3 24.05 M20 56 20.95 14.85 4.25 2.25
LDI-50B 25 19.6 29.1 M24 65.5 25.55 17.95 5.25 25/5

26 1 3miE L

BORUI TOOLS

HIZ TN ER R E
NC. TOOLING SYSTEM
#8E Germany DIN 2080-A NT ERR International 1SO 7388/1-A JT
f1[E China GB10944
=[E Germany DIN69871 SK

NT30

232
239.25

\_
#3175
|

15

NT40

2447
#56.25

18.5

16 10
JT45
NT45 313291 ) 827 19.1
{iK]
7:24 =
7:24 "
2L < |w
ky gl | g AN 2 —+1 5le
- = J g < CYAN
/ N
106.8
2 24 15.9
3.2 12 35
JT50
NT50 317355 ) 10175 19.1
111
7:24 =y
7:24
22 2 i
| N\ 3 L L &H 8 44 32
-3 X = o
| — ] k4 ) 4 LYRY

126.8

32 |p2

27

(A #3mE L

BORUI TOOLS



TN B RGEINE x % F 75

NC. TOOLING SYSTEM COLLET SERIES
REErlapan MAS 403 BT <[ America ANSI B5.50 CAT BR-20002 DIN6499B 47 ERF 5! 2 3k
ER SERIES COLLETS WITH STANDARD DIN6499B
BT30 CAT30 1.3 F R BR s 25 5 1. Made of special elastic steel material
84 136 - 7;25 2.REZhK, RETEER, BES 2. Power clamping ability,precise accuracy
- A 3TiZATFE. B fh. WL B 3. Used for boring,milling,drilling,tappping,grinding and engraving
— . - . ) o REZI% T operation etc.
Sy E — =8 g I
<+T i~
e
02 108|102 sl a8l = ==—=1 |16°
i *f?;l =
L2 L3
L
CAT40 ‘ ER11-ER50 ER8
724 —n | M 724 L A = s e
ﬁﬁ i i ] Mcﬁé’_ No. dH7 D D D2 - L L Ls Coll?plﬁgﬂlzéﬁiacity
[ Dre C o) 4 {lOH 8 ERS >1.0~5.0 8 845 65 135 298 15 1.2 0.5
% Bl Ml ERTT >1.0~7.0 1M 115 95 180 38 25 20 0.5
Y e >1.0~2.5 16 17 138 275 626 40 27 0.5
@ S e RI6 Sas~100 16 17 138 275 626 40 27 1.0
i e S10725 20 21 174 315 636 48 28 0.5
>2.5~13.0 20 21 174 315 636 48 2.8 1.0
ERS >1.0~25 25 26 220 340 666 5.0 3.1 0.5
522 22 CAT45 . 5255 19.05 >2.5~16.0 25 26 22.0 34.0 6.66 5.0 3.1 1.0
' ER3D >2.0~2.5 32 33 292 400 716 55 3.6 0.5
| ) >2.5~20.0 32 33 292 400 716 55 3.6 1.0
-8 : i—#z — ) ¢ ER40  >30~260 40 41 362 460 766 70 41 1.0
ﬁ >6.0~10.0 50 52 460 600 126 85 5.5 1.0
I + ERS0 >10.0~340 50 52 460 600 126 85 5.5 2.0
i FEE#M Inspection of Accuracy 5 ] 12 [EBk51 Run out tolerance
| Il
1.0~1.6 6
BT50 | = £ CATS0 , 1016 08 } ® >1.6~3.0 10 0.008 0.015
= m ; : >3.0~6.0 16
B . | A I >6.0~10.0 25
_j S/ _ﬁ} o z ___} g | [ x } \é - 2lg J—ﬁ 3 >10.0~18.0 40
| >18.0~26.0 50 0.008 0.015
= 2 A= \-—/ >26.0~30.0 60
e e s Zsos >30.0~340 80 0.008 0.015

WA TTRRARE R, — iR [ RIS, NFE 1 RUFBHRITE MEHW
If no special requirement,we would supply to you accordingligrade;if you requird grade,the price would be advanced



x *x F 5 x X F 7

COLLET SERIES COLLET SERIES
BR-20004 ERC #!3%sL ERC COLLET BR-20008 ER JEf§ ER NUT
1.44%}: 65Mn 1.Material: 65Mn
2.fEE: HRC44~48 2.Hardness: HRC44~-48

3.#5 . DIN6499%r# 3.Accuracy of DIN6499 standard

M-6H

D
M-6H
A
D
M-6H
AN
D
M-6H
D
M-6H
N :
D

£l Model No. flzd D L = )
ER16C-d 2-10 16.6 27.5 : - L -
ER20C-d 2-13 21.6 315 AR - M —_— m——
ER25C-d 2-16 25.6 34
ER32C-d 3-20 32,6 40 #1-= Model No. E X Type D(mm) L(mm) M E=2Wt(kg)
ER40C-d 3-26 40.6 46 ER11-A A 19 11.3 M14X0.75 0.005
ER16-A A 28 17.5 M22X1.5 0.01
- 1] o AR
1.%#}: 65Mn 1.Material: 65Mn ER25-B B 42 20 M32X1.5 0.14
20E[E: HRC44~48 2.Hardness: HRC44~48 ER32-B B 50 22.5 M40X 1.5 0.20
ER40-B B 63 25.5 M50X 1.5 0.30
3"% ER50-B B 78 355 M64 X2 0.50
\\
N A ER8-M M 12 12 M10X0.75 0.005
=f T |16 <P
L= Q ER11-M M 16 12 M13%0.75 0.01
~ | 4
b | ER16-M M 22 18 M19X 1 0.05
- ER20-M M 28 19 M24 X 1 0.05
ER25-M M 35 20 M30X 1 0.08
H = - 7S _ _ _
D 16 20 25 32 40
ER16-T1 K 28 175 M22X1.5 0.01
L 275 315 34 40 46
d 3.5~8 3.5~10 3.5~16 3.5~20 3.5~25 ER20-T1 n 34 19 M25X1.5 0.05
ER25-T2 p) 42 20 M32X1.5 0.14
ER32-T2 p) 50 22.5 M40X 1.5 0.20
3.5X2.7 4.0X3.0 45X3.4 5.5X4.3 6.0X4.9 7.0X5.5
dxa 8.0X6.2 9.0X7.0 10X8.0 11X9.0 12X9.0 14X11 ER40-T2 T2 63 255 M50%1.5 0.30
16X12 18X14.5 20X16 22X18 25X20 ER50-T2 T2 78 355 M64X 2 0.50

30 Ik T o Ik T 31

BORUI TOOLS BORUI TOOLS



&

BR-20010 ER #F ER SPANNER

P

5

COLLET SERIES

O

COLLET SERIES

BR-20012 ER &£tk L ER MILLING CHUCK SET

E

1l

1.BERKLOIFIZFRLEK, 1XEE, BERLRIZIRF
2AREHEHEEE
1.A setincluded: 1 collet chuck,1 clamping nut, full set of

collets snd 1 spanner
2.Packed in a wooden case or plastic case

- )
b >
£1= Model No. B L i& A E 18 Clamping Nut
SPANNER-ER11 17 110 ER11-A ER11-T1
SPANNER-ER16 25 120 ER16-A ER16-T1
SPANNER-ER20 30 130 ER20-A ER20-T1

=

L

£S5 Model No. B L i& A £ 18 Clamping Nut
SPANNER-ER25-S 37 210 ER25-B ER25-T2
SPANNER-ER32-S 45 250 ER32-B ER32-T2
SPANNER-ER40-S 58 290 ER40-B ER40-T2
SPANNER-ER50-S 72 350 ER50-B ER50-T2

L T

—

B3S L1Z Hole size SH/E o
Model No. in mm Pcs/set Shank
3/32 1/8 3/16 7/32 RS
ER16-8i
6-8in(mm) 14 516 1132 3/8 234567810 8 MT2~MT6
ER25-6in(mm) 1/8 3/16 5/16 3/8 172 5/8 468101216 6 NT30 NT40
NT50
. 3/32 1/8 3/161/45/16 c8 10
ER25-1
5-10in(mm) 38 716 10 96 5/ 3456810121415 16 10
C12 C16
ER32-6in(mm) 14 516 3/8 12 5/8 3/4 6810121620 6 €20 €25
ER32-12in(mm) 332 1/8 316 1/4 56 3/8 345681012141516 1820 C%Z o
716 112 916 5/8 11/16 3/4 12| 1/2" strsh
5/8" str.sh
ER40-8in(mm) 18 1/4 3/8 1/2 5/8 3/4 7/8 1 358 1215182226 8 | 34" strsh
1" str.sh
ER40-15in(mm) 1/8 3/16 1/4 516 3/8 7/16 12 3456810121415 " "
916 5/8 11716 3/4 13/16 7/8 15/16 1 1618202224 26 1-1/4" strsh

Fe LRI RIFFR2 4L Thread of draw bar

HAFH247 Thread of draw bar

#E47 Taper of collet chuck

R8 7/16"-20UNF
7:24 30 M12X1.75 1/2"-13UNC
7:24 40 M16X2.0 5/8"-T1TUNC
7:24 50 M24X3.0 1"-8UNC
MT2 M10X1.5 3/8"-16UNC
MT3 M12X1.75 1/2"-13UNC
MT4 M16X2.0 5/8"-11TUNC
MT5 M20X2.5 3/4"-10UNC

#2 Model No. L #t& Size i& A FE 18 Clamping Nut
SPANNER-ER25 168 38-42 ER25-B ER25-T2
SPANNER-ER32 190 45-52 ER32-B ER32-T2
SPANNER-ER40 210 55-63 ER40-B ER40-T2
SPANNER-ER50 240 78-85 ER50-B ER50-T2

£S5 Model No. B L iEHENE Clamping Nut

SPANNER-ER8M 7.5 70 ER8-M

SPANNER-ER11M 11 90 ER11-M

SPANNER-ER16M 15 110 ER16-M

SPANNER-ER20M 19.5 120 ER20-M

SPANNER-ER25M 25 130 ER25-M

32 EImiE L (A

BORUI TOOLS

13TERS, FERARLAERE S, RATIRER I LB (2 Hl 5% )
2ITHMEMEFR LR, EERERNERRKE.
BERNMIEALUREEHER, RUEFEMERGBHIHETRL. KKK
1.Please notify the thread of collet chuck draw bar and the specification of collets (metric or inch)
2.Please notify the length of straight shank and dia.
3.We are glad to supply collets and chucks with different shank and quantities according to your requirement.

Eimfs L

BORU

TOOLS

33



HETRZRT HiIET B ZRJ
CNC TOOL SYSTEMS CNC TOOL SYSTEMS

BR-20014 C/ER ERIELAT (ME!/)\Z4208) C/ER Straight shank collet chuck and extension type BR-20016 C/ER EHRIE14F C/ER Straight shank collet chuck and extension type

ts

. [ I
ormﬂﬁ i | =3
| ‘ 1.
- C AN
| &1
!
[&]
£S5 Model No. L I2 I3 D ti ”Fg uj
C 8 XER8M-55 79 24 ¥ I .
C10 X ER8M-100 117
C10X ER8M-150 167
C10 X ER8M-180 197 17 6 12 M4X0.7 == Model No. 1 ” - T (kg) Weight
C12 X ER8M-55 72 C16 X ER11A-140 1565 16.6 M6X1.0 023
C12 XER8M-120 137 C16 XER16A-50 920 0.15
v C16 XER16A-100 140 M10X 1.5 0.20
C12XER8M-180 197 . C16 X ER16A-150 190 40 0.28
C12XER11M-80 96.6 C20XER16A-50 90 0.25
C16 XER11M-50 66.6 C20XER16A-100 140 0.35
16.6 C20XER16A-150 190 0.40

C16XER11M-100 116.6 6.6 16 M5 X 0.8 30X ER20A50 005 W12 175 035
C16 X ER11M-140 156.6 C20 X ER20A-120 160.5 405 0.40
C16 X ER16M-80 117 C20 X ER20A-180 2205 0.50

C20 X ER20A-140 175.1 0.50
C20XER16M-100 125 - C20X ER25-50 101 B 0.40
C20 X ER16M-140 165 10.6 22 M10X 1.5 C20XER25-100 151 0.45
C20 XER16M-160 185 C20 XER32:50 10125 515 042

C20XER32-100 1515 M10X 1.5 0.55
C20<XER20M-60 100 C25X ER16A-150 185.1 35.1 0.45
C20 X ER20M-100 140 C25 X ER20A-140 175.1 405 M12%1.75 0.55

40 3

C20 X ER20M-120 160 115 C25 XER25-50 101 51 0.40

C25%ER25-100 151 0.55
C20 X ER20M-150 190 28 M12X1.75 C25 X ER32-50 1015 515 0.60
C20 X ER20M-180 220 C25 X ER40-50 115 65 M16X2.0 2.10
S Eaa s = = C32XER32-60 1015 i 115

C32XER32-100 1515 0.80
C20 X ER25M-100 150 50 12 35 R s os ==

34 1@%#%;0 QO AT 3 5

BORUI TOOLS BORUI TOOLS



COLLET SERIES COLLET SERIES
BR-20018 DIN6388A #R/EEOCK 5%tk DIN6388A EOC COLLETS #2463 Inspection of Accuracy D L *ér’wﬁiﬂ fun outtolerance
[ 10 1.0~1.6 6
s o AN >1.6~3.0 10
0ol < — W o STT, o 0010 0.015
& o - 3 - 1 = = >7.0~10.0 25
- & % A R = l = >100~180 | 40
: L L >18.0~24.0 50 0.015 0.020
mm >24.0~30.0 60
72 Model No. D Di d L L1 L2 L3 >30.0~50.0 80 0.020 0.030
EOC/0Z6 10 11.5 1~6 21 3.5 0.5 4
EOC/0Z8 12.65 14.5 1~8 26 4 0.8 4.5 VAR TAFHmEXR, —MIRMEEE, 0F | R, WEHKITSE ME5N
EOC/0Z10 15.15 172 1~10 30 45 08 45 If no special requirement,we would supply to you according to Il grade,if you require | grade,the price would be
EOC/0Z12 17.75 19.8 1~12 34 5 1.1 4.5 advanced
EOC/0Z16 22.65 25.5 2~16 40 55 1.2 55
EOC/0Z20 27.4 29.8 2~20 45 6 1.35 6
EOC/0Z25 320 | 3505 | 2~25 52 6 1.4 6 BR-20022 EOC/OZ [EIE BR-20024 EOC/OZ ¥
FOC/0z32 4.3 87 | 432 60 6 1.45 ! EOC/OZ CLAMPING NUT EOC/OZ SPANNER
EOC/0Z40 49.7 52.2 6~40 68 6 1.45 8
EOC/0Z50 61.1 63.8 8~50 80 7 1.55 9

FHIHSHTIEMAZ: h11 Clamp workpiece or tooling shank tolerance h11

BR-20020 DIN6388B #x#EOCZH %%tk DIN6388B EOC COLLETS

L1, L3 y
L2 1:10
sof | ° - )
&< —— I t 1
|-

ﬁ ﬁ W IR s T D L T A= L ERERIME
_ N Model No. mm mm Model No. mm Dia of nuts(mm)
L YMEOC/0Z6 18 14 M14X1 B/EOC/0Z6 20 18~21
mm YMEOC/0Z8 26 19 M20X 1.5 B/EOC/OZ8 125 22~26
712 Model No. Di D d L L1 L2 3 YMEOC/0Z10 30 19 M22X1.5 B/EOC/OZ10 140 28~32
EOC16B 25.5 22.65 2~16 40 5.5 1.2 95 YMEOC/OZ12 35 20 M27X1.5 B/EOC/0Z12 154 34~36
EOC20B 298 27.4 2~20 45 6 1.35 10 YMEOC/OZ16 43 24 M33X1.5 B/EOC/OZ16 168 38~42
EOC25B 35.05 32.9 2~25 52 6 1.4 10 YMEOC/0Z20 50 28 M42 X2 B/EOC/0Z20 190 45~52
EOC32B 43.7 4.3 4~32 60 6 1.45 11 YMEOC/0Z25 60 30 M48 X 2 B/EOC/0Z25 210 55~62
EOC40B 52.2 49.7 6~40 68 6 1.45 12 YMEOC/0Z32 72 335 M60 X 2.5 B/EOC/0Z32 230 68~72
EOC50B 63.8 61.1 8~50 80 7 1.55 13 YMEOC/0Z40 85 37 M68X2.5 B/EOC/0Z40 240 78~85
=ARIFEE: 0.5mm Max clamping range:0.5mm YMEOC/0Z50 100 43 M80Xx 2.5 B/EOC/0Z50 250 100~110

36 m#RI o o BEET 37

U BORUI TOOLS



x *x H 7 x % F 5

COLLET SERIES COLLET SERIES
BR-20026 EOC/OZ #FIE =t Fk EOC/OZ MILLING CHUCK SET BR-20028 JM71 ELE/ Kk JM71 STRAIGHT SHANK COLLETS
1. BERFLEE1ZILRE, 1. Asetincluded: 1 collet chuck,1 clamping nut, ﬁ -
1%EME, BERLRIZRTF full set of collets snd 1 spanner : "
2. RESEHEaHE 2. Packed in a wooden case or plastic case ﬁ ﬁ . < .
g iE=
Z4S Model No. D(mm) d(mm) L(mm)
o =5 i C16 16 412 45
J_/u—/ C20 20 4-16 50
22 22 4-16 55
C25 25 4-20 60
22 %/E d GE 2 32 32 4-25 65
Model No. Pcs/set mm in Shank Wt(kg) C40 40 6-32 80
R8-EOC/OZ/8mm(in) R8 3.58 c42 42 6-32 80
30-EOC/0Z/8mm(in) NT30 2.52
40-E0C/0Z/8mm(in) NT40 2,61 BR-20030 ®$tx HtFKLEZE MILLING CHUCK SET
45-E0C/OZ/8mm(in) 1/81/4 NT45 3.09 1. 88k EHE, EOBESHISS, 155358 1.The milling chuck clamp with exceptional force and with
50-E0C/0Z/8mm(in) o 358 3/81/2 NT50 3.92 BFEALEIINT a very tight tolerance on run out
MT3-EOC/OZ/8mm(in) 121518 5/83/4 MT3 2.32 2.005E F FHUE £ 44 E HMT2~MTS5; 2.Used for the spindle taper of milling machine:R8 MT2~
MT4-EOC/0Z/8mm(in) 2225 7/8 1 MT4 2.57 7:24 30~50 % R8I & Fh LR MT5,7:24 30~50
MT5-EOC/0Z/8mmi(in) MT5 3.48 3.EES T EIEIT TN, BELLIRIZIRF  3.Asetincluded:1 collet chuck full set of collets and 1 spanner
1"-EOC/OZ/8mm(in) 1" 2.18
1-1/4"-EOC/0Z/8mm(in) 1-1/4" 2.78
R8-EOC/OZ/15mm(in) R8 4.42
30-EOC/OZ/15mm(in) 1/83/16 NT30 3.37 fre—— @I% .
40-EOC/0Z/15mm(in) 1/45/16 NT40 371 " ﬁ L :”_E =
45-E0C/0Z/15mm(in) 63:150 3/87/16 NT45 4.29 ﬁ =
50-EO0C/OZ/15mm(in) 15 121415 1/29/16 NT50 511
MT3-EOC/OZ/15mm(in) 16 18 20 5/811/16 MT3 3.52 A= /B FHEIEE 545 Shank D(mm)
MT4-EOC/OZ/15mm(in) 222425 3/413/16 MT4 3.75 Model No. Pcs/set clamping range (mm) .
MT5-EOC/O0Z/15mm(in) 7/815/16 MT5 4.65 c16 6 45681012 R8 MT2 50
1"-EOC/0Z/15mm(in) 1 1" 343 C20 8 456810121416 MT3 MT4 56
1-1/4"-EOC/ OZ/15mm(in) 1-1/4" 3.80 C25 10 456810121416 18 20 MT5 NT30 63
1ITHRS, 5 7ERA 3 KR R FF I SR 5 Sk AU HLAR (2 35 21 €32 1 e R e G U L U NT40 NT50 4
2T EMSE R LR, FEREMNEERKE 42 12 681012141618 2025283032 90

3EMEFATURFEEMER, RETEMEBREBEIMERSL. KKk

1. T80, EERARLMBRES RAFFIZLL
1.Please notify the thread of collet chuck draw bar and the specification of collets (metric or inch) 5 i

Pease notify the thread of collet chuck draw bar.

Aoy e gt e sl v aie heindall 2. HABEALURIBEIER, RETRMERIEMNHETL, Fekik
3.We are glad to supply collets and chucks with different shank and quantities according to your requirement

S [Tt O FHEI 30

BORUI TOOLS



COLLET SERIES

BR-20034 P& JJ#l3% % SHARPENER COLLETS

5 E

COLLET SERIES

BR-20032 % AR#sEFK L QUICK ACTION MILLING CHUCK
, BRBRREERAEH, AREIEBAR

i& A TR TSR E LR
i)l‘i'}%fEI]—L RAEEE,

This quick-action chuck set was developed to optiaction the time-con suning exchange of the various milling tools in

their mounts.The quick-action mounts is inserted into the spindle.Just as with convertional tapered tool shanks.Then the

tool mounts are inserted into the quick-action mount,and secured by one quarter of the bayunet lock.All components of

the set are precision-made hardened,and precision-ground.

2@ 5MaERsTHRC55~60
31+ XHRC40~45

2_Miartdnieds : 66 ping part HRC55~60
elastic part HRC40~45

220
|
|
|
|
I
|
|
d
28
|

35°12°

S20X2

122

S
@ o*.i TSI
T B E £l Model No. d
% mm ﬁq ALI\J“: = H = Med in mm
Sk 1/8~5/8 3~16
odel No. - odel No. - - £33
#2 Model N JXT16-40 # 2 Model N JXT25-50 BR-20036 DIN6341 3## 3L DIN6341 COLLETS
1R EE 1quick-action mount 1 IRIREE 1quick-action mount
11 KRR8I Fe sk 1collet chuck & 8 collets | 14k IRk R 937 ke sk 1collet chuck & 9 collets 1.#4%: 65Mn 1.Material: 65Mn
(4568101214 16) (4568101214 16) (6810121416 1820 25) (681012141618 20 25) 2 E: FK#HFEPHRC55~60 2.Hardness: clamping part HRC55~60
MERISHEE Tmount MT1 MER2SHEE Tmount MT2 2% X HRC4A0~45 elastic part HRC40~45
ITRR2SHEE mount MT2 IMRR3ISHEE Imount MT3 BEATEMEER 3.This unit is applicable to all sorts of automatic lathes
MER3SHEE Tmount MT3 IMERASHEE Tmount MT4
11B12§HEHF 1drill arbor B12 11B16$63ZFF 1drill arbor B16
1483k 1drill chuck 14Nk 523k 1drill chuck 4y
1/ im E$E T4 1face mill arbor 14 s 3 JT4F 1face mill arbor
IMRAESES Thook spanner AP SES 2hook spanner N i
1R KB E  BEh 2.5 [EEREE R % |
Run out of quick action collets Run out of mount
L
L N LM\LH L Z4= Model No. di(mm) D(mm) L(mm) dmax(mm) g EEWt(kg)
k8-d 8 12 45 5 M8X0.75 0.06
d(mm) <5 >5-12 >12 HR#EMS Morse Taper No.| 1 2 3 4 K10-d 10 15 ) 6 110X 1 0.09
L(mm) 30 50 100 L(mm) 30 [ 50 | 75 | 100 12 = 3 60 3 Tr12%1 0.11
% Error(mm) 0.02 0.025 0.03 % Error(mm) 0.025 K16-d 16 2 20 1 T16X15 0'1 5
£ " = k20-d 20 28 80 15 Tr20X 1.5 0.15
3R EATRYZ @ BRI <0.015mm 4. {138 TIFFR94Z E Bk 50 < 0.02mm e
Redial run out of drill arbor <0.015mm Radial run out of face mill arbor<0.02mm e s = 32 90 18 Tr23Xx1.5 0.21
k28-d 28 38 100 22 Tr28X1.5 0.23
k32-d 32 45 110 27 Tr32X1.5 0.27
k45-d 45 60 140 36 Tr45X%x2 0.32

00

o Tﬁfﬁ'ﬁ%ﬁl 41

BORU



*x % % 5
COLLET SERIES

BR-20042 #:fl B %3 shJ Sk KEYLESS DRILL CHUCK WITH TAPER MOUNTED

z 7
COLLET SERIES

BR-20038 DIN6343 ¥k DIN6343 CLAMPING COLLETS

1.#4%}: 65Mn 1.Material: 65Mn 1.P. DFERFER. #iK. ERXR. SREVRLER,
2 EE: FiFERSHRC55~60 2.Hardness: clamping part HRC55~60 2MEERFIMIAD. HIENKRESHEENKRER.
¥4 XHRC40~45 elastic part HRC40~45

1.Grade P&D is used in lathe. milling machine. boring machine. drilling bench etc.

‘This unit is applicable to all sorts of automatic lathes,turret lathes ) o o ) o o )
2.Grade M is used in high precision machine-tool,such as machining center and digital control machine.

<>%@H?3 30
L ~t

BERTEMER. NAEKREF

7 . [ ] °
2 fL1Z Hole size(mm) - N
Model No. Di(mm) D2(mm) L(mm) g S ™ EEWt(kg) %&
DIN6343-F17.5 17.5 22 51 13 8 10 0.05 ]
DIN6343-F22 22 30 55 16 11 13 0.09
DIN6343-F27 27 38 72.7 22 15 19 0.10
DIN6343-F28 28 38 70 22 15 19 0.12 - v P > 1 =% Runoutmm
il REFE EERS A%
DIN6343-F32 32 45 75 26 18 22 0.27 Model No. Capacity Mount mm mm 5 5 W
DIN6343-F35 35 48 80 30 21 26 0.35 10106 o 510
D7™~romm
DIN6343-F42 42 55 94 36 25 30 0.49 10206 AR e 34 72
DIN6343-F48 48 60 94 42 29 36 0.57 J0108 158 =13
D7™~vomm
DIN6343-F56 56 68 94 50 35 42 0.65 10308 64 516" = 42 82
DIN6343-F66 66 84 110 60 42 52 1.16
J0110 1~10mm B12 42 82
J0210 2 0.12 0.16
BR-20040 2% TAPER COLLETS "3/ " 44 88
HE R, J0210A 17327 ~3/8 JT33
0.06
J0113 B16 44 97
e i J0113A 1~13mm B16
——ll’—r 10213 JT33 49 100
1T — th J0213A 1327 ~172 IT6
L JO116A B16 110
DL sk A 54 e 0.14 0.20 0.07
#2 Model No. JMT1-d JMT2-d JMT3-d JMT4-d | J7B&S-d J9B&S-d J0216 P JT6 110 ' ' '
#EE Taper MT1 MT2 MT3 MT4 B&S7 B&S9 J0216A M3 110
flizd in | 1/16~5/16 | 1/8~1/2 1/8~3/4 1/8~1 1/8~1/2 1/8~3/4 J0120 5~20mm B22 e o T L
Hole size | mm 2~8 2~12 3~20 3~25 2~12 3~20 J0220 3/16 " ~3/4" JT3 ' :
D(mm) 12.2 18 24.1 Bilks 18.4 27.08
T 4L R IES o
L(mm) 57 68 86 108 79.4 105 1T55 R, 15 ,.fﬁﬂ*ﬁlii@hl] ]
& Wi(kg) 0.05 0.08 0.10 038 0.09% 032 Please notify the grade in the order.

47 BERI g

(A HImE L 43

BORUI TOOLS



ERTHFR. $HK

z 73

COLLET SERIES

BR-20044 #2417 B ¥3X$53% 3k KEYLESS DRILL CHUCK WITH THREAD MOUNTED

R, B TERARIHMEIRLER.

Used in lathe. milling machine. drilling bench. electric hand and woodworking machine etc.

s FKIFEE EERST D L & Runout
Model No. Capacity Mount mm mm mm

J0306 0.5~6mm M10X1 34 64

JO306A 1/64" ~1/4" 3/8 " -24UNF

J0308 0.5~8mm M10X1

JO308A 1/64 " ~5/16 3/8 " -24UNF 40 80

J0308B 0.5~8mm N12X1.25

J0308C 1/64" ~5/16 " 1/2 " -20UNF

J0310 T~10mm M10X1

n ~ n n - 0-20

JO310A 1/32 3/8 3/8 " -24UNF 42 86

JO310B 1T~10mm M12X1.25

J0310C 1/32" ~3/8 " 1/2 " -20UNF

J0313 T~13mm M10X1

JO313A 1/32 " ~1/2 3/8 " -24UNF 44 97

JO313B T1~13mm M12X1.25

J0313C 1/32" ~1/2" 1/2 " -20UNF

JO316 3~16mm M12X1.25

JO316A 1/8 " ~5/8 1/2 " -20UNF 48 107 0.24

JO316B 3~16mm M16X1.5

J0316C 1/8 " ~5/8 " 5/8 " -16UNF

44 Taﬁfﬂﬁ%ﬁl

COLLET SERIES

BR-20048 J45 B2k sk J45 TAPPING CHUCK

ZRFIBEFRMNLRERBITAR, EHREFAF

E

PREMLER, REFATEE, ARSI RERITBME R LM, 7ERE,
This unit is consisted of chuck and tap collet.The chuck has installed compensating device for thread pitch.There
are two different tap collets,one with overload protection and one without. When using the tap collet with overload
protection,the protection device can automatically release to avoid tap-break.Just adjust nuts and you can get the
different release torque quickly and conveniently.

9% % o°

Wﬂ_‘ °| o

1l

FR2EMEEE, WAREEIHRIPMTRIFFHH, LR

—
SENEN

L1

= z W
Mga;lj_No. gﬁ;ﬁk Talggr;gnge D(mm) D{mm) d(mm) Li(mm)
D30-12 DIN69871.30 31.75 5
D40-12 DIN69871.40 44.45
D50-12 DIN69871.50 |  M3~M12 36 69.85 w0 | e
B30-12 BT30 31.75 59
B40-12 BT40 44.45 64
B50-12 BT50 69.85 75
D30-20 DIN69871.30 31.75
D40-20 DIN69871.40 44.45
D50-20 DIN69871.50 |  M7~M20 53 69.85 31 97
B30-20 BT30 31.75
B40-20 BT40 44.45
B50-20 BT50 69.85
D30-36 DIN69871.30 31.75
D40-36 DIN69871.40 44.45
D50-36 DIN69871.50 |  M14~M36 =5 69.85 " P
B30-36 BT30 31.75
B40-36 BT40 44.45
B50-36 BT50 69.85

Taﬁfﬂﬁ#ﬁl 45

BORUI TO



BR-20050 TCSE!HH /1T 2253k TCS TAPPING TORSION TAPPING COLLET BR-20052 E[KshFL5¥ £ E = MORSE TAPER DRILLING SLEEVES
L —
<O JHEt o
' __AJ ) /s MT.NO.
1) J
AR A ] L

s ISODXa DIN371 DXa DIN376 DXa JIS(HZ)DXa d(mm)

M2 2.8X%X2.25 2.8X2.1 2.5X%X2.1 3X2.5

M3 (1/8) 3.15%X25 3.5%X2.7 4X3.2

M4 (5/32) 4X3.15 45%X34 5X4

M5(3/16) 5% 4 6X4.9 55%45 19 #1.5 Model No. MT.NO. d(mm) D(mm) L(mm)

M6(1/4) 6.3 X5 6X4.9 6X4.5 TZ1-d MT1 2.24~8.0 12.31 67

M8(5/16) 6.3X5 8X6.2 6X4.9 6.2 X5 _ -

M10(3/8) 8X6.3 10X 8 7X5.5 7X5.5 122-d MT2 4.75~12 18.06 80
M12 9%7.1 9xX7 8.5X6.5 BORUI TOOLS TZ3-d MT3 11.2~18 2415 80
1/2" 9X7.1 9Xx7 9X7 TZ4-d MT4 16~25 31.66 90
M16 12.5X10 12X9 12.5X10
5/8" 12.5X10 12X9 12X9 31

M18(3/4) 14X11.2 14X 11 14X 11
M20 14%X11.2 16X 12 15X 12

M22(7/8) 16X12.5 18X14.5 17X13
M24 18X 14 18X 145 19%15 BR-20054 E[KIx 2234 £E R MORSE TAPER TAPPING SLEEVES

M27(1") 20X 16 20X 16 20X15
M30 20X 16 22X18 23X17 48
M33 22.4X18 25X20 25X19
M36 25X%X20 28X22 28X%X21 MT.NO.

PT1/16-28 8X6

PT1/8-28 8X6 19 . vﬂl """ ~——ll_~ M~

PT1/4-19 119 B — =

PT3/8-19 14X 11 31 L

PT1/2-14 18X 14

PT3/4-14 23X17 48

1iz% 3k | BN E T HERPEE, HETE  2ITHRHESHENE ERIEERM: 19-3.5%X2.7-11
1. With overload protection device inside the chucks torque adjustable &S Model No. MT.NO. d(mm) D(mm) L(mm)
2.Show the specification in the order,with diameter of shank in the form as 19-3.5X2.7- I TGO-d MTO 2.47~4.53 9.2 59.5
BR-200501 /1T 44 k4% TAPPING COLLET ADAPTER LG, dulh il e ol
TG2-d MT2 5.95~12 18.06 80
— TG3-d MT3 12.5~18 24.15 80
K ‘u l il : > e TG4-d MT4 16~24 31.66 90
L IE;E';? ‘6‘;‘2 3; ;9 TG5-d MT5 22~34 44.73 156
2 . E L TG6-d MT6 34~38 63.76 217.5
L

46 1z o mnz 47

BORUI TOOLS



&

5

BR-20056 R8 ¥ & 3k R8 COLLETS
1. Material: 65Mn

1. #1#}: 65Mn

2. W& RFEERFHRC55~60
5% X HRC40~45
3. &R T EMEFLHRBHIEFNEE
Pk, #1X6325. X5325%

COLLET SE

2.Hardness: clamping part HRC55~60

elastic part HRC40~45

RIES

3.This unit is applicable to all sorts of milling machines,
which spindle taper hole is R8,such as X6325. X5325 etc.

e &

COLLET SERIES

BR-20060 #xF a3k KEY TYPE DRILL CHUCK
1EEHR. BREL, 2. MATFHRER. FR. $hR. KRIHH. 3. eEBRZFETH

S

1l

1. Suitable for medium. heavy duty drilling use.

2. For milling machine. lathe. drilling machine.
wood working machine.
3. High speed drilling can be performed for
possessing high griping power.

3 ) iTEe FiEE Capacity R~ 5MED KEL 2
A v : o e r )170 Order No. mm in Mount mm mm Wt.(kg)
e b 12110 1-10 1/32-3/8 B12 425 70 0.34
12113 1-13 1/32-1/2 B16 53 86 0.63
‘ ‘ F 3535 E Clamping range 12513 1.5-13 1/16-1/2 B16 44 78 0.45
1TE# 2 Order No. B Type Ping : g =& Wt(kg) J2516 3-16 1/8-5/8 B16 53 86 0.63
mm In J2516A 3-16 1/8-5/8 B18 53 86 0.63
R8-01-d ?L Round 1~20 1/16"’7/8 0.24 12116 3-16 1/32-5/8 B18 57 98 1.00
R8-02-S m 77l Square 3~13 1/8~1/2 0.24 J2116A 1-16 1/32-5/8 B16 57 93 0.82
R8-03-H 75 7L Hex 3~16 1/8~5/8 0.24 J2120 5-20 3/16-3/4 B22 65 110 1.40
12210 1-10 1/32-3/8 fip) 42.5 70 0.34
FEEARM Inspection of Accuracy d L ZEBE) Run out J2213 1-13 1/32-1/2 JT6 53 86 0.63
po—— = . = i J2213A 1-13 1/32-1/2 JT33 53 86 0.63
12613 1.5-13 1/16-1/2 JT33 44 78 0.45
[ 2 >1.6~3 | >1/16~1/8 12.7 0.0005 0.013 J2616A 3-16 1/8-5/8 JT6 53 86 0.63
\L ‘ o == >3~10 >1/8~3/8 25.4 0.0005 0.013 J2616B 3-16 1/8-5/8 JT33 53 93 0.65
ZZm >10~16 | >3/8~5/8 38.1 0.0005 0.013 12216 1-16 1/32-5/8 J13 57 98 1.00
12220 5-20 3/16-3/4 T3 65 110 1.40
>16~20 | >5/8~7/8 50.8 0.0005 0.013
—; BR-200601 7:243 L &% 7:24 COLLET SERIES
BR-20058 R8 #JH#F R8 COLLETS DRAW BAR
| Il
_—_ — )
> [ S == T
— —= ] [T N | St e s
1TES Order No. AR Type L(mm) Li(mm) T =& Wt(kg)
LG/R8-1 | 518 50.8 M12 0.57
LG/RS-1A | 518 50.8 7/16" -20UNF 0.51 =] )
LG/R8-2 | 600 128 M12 0.81 :
LG/R8-2A | 600 128 7/16" -20UNF 0.75 — TR — R B — T T~
LG/R8-01C T 633 128 7/16" -20UNF 0.85 i =k i
SK40S20X2 | 965 |44.65 | 3~25/520X2  MK4S20x2 | 105 [31.592| 3~25/520X2  DIN2080.40 M16|105.5| 44.9 | 3~25| M16
LG/R8-01D Il 551 50.8 M12 0.62

48

HInkE T HInkg T
WAL gy o WAL 49

TOOLS



wt 7 F & 5

BR-30002 7:24/MT %1z

\ '

MILLING ARBOR SERIES

(FFE3) 7:24 TO MT ADAPTER(END OPENING TYPE)

wt 7+ R 5

MILLING ARBOR SERIES

BR-30006 7:24/MT 3L1E

(RRE3) 7:24 TO MT ADAPTER(WITH TANG)

7:24 NO.S
:::E‘ ji_é \MT.NO. -} ©| o
L
1S Model No. | 7:24 NO.S MT.NO. D(mm) Di(mm) d(mm) L(mm)
DIN2080.30-MTA1 MT1 25 12.065 118
DIN2080.30-MTA2 MT2 32 17.780 118
DIN2080.30-MTA3 30 MT3 40 31.75 23.825 138
DIN2080.30-MTA4 MT4 48 31.267 212
DIN2080.40-MTA1 MT1 25 12.065 143
DIN2080.40-MTA2 MT2 32 17.780 143
DIN2080.40-MTA3 20 MT3 40 4445 23.825 158
DIN2080.40-MTA4 MT4 48 31.267 188
DIN2080.40-MTA5 MT5 61 44.399 273
DIN2080.50-MTA1 MT1 25 12.065 172
DIN2080.50-MTA2 MT2 32 17.780 187
DIN2080.50-MTA3 30 MT3 40 69.85 23.825 192
DIN2080.50-MTA4 MT4 48 31.267 197
DIN2080.50-MTA5 MT5 61 44399 232

BR-30008 7:24/R8 E12E 7:24 TO R8 ADAPTER

A= Model No. 7:24 NO.S MT.NO. D(mm) Di(mm) d(mm) L(mm)
NT30-MTB1 30 MT1 24 31.75 12.065 75
NT30-MTB2 30 MT2 30 31.75 17.780 100
NT30-MTB3 30 MT3 36 31.75 23.825 130
NT30-MTB4 30 MT4 48 31.75 31267 1626
NT40-MTB1 40 MT1 24 44.45 12.065 80
NT40-MTB2 40 MT2 30 44.45 17.780 85
NT40-MTB3 40 MT3 36 44.45 23.825 100
NT40-MTB4 40 MT4 48 44.45 31.267 145
NT40-MTB5 40 MT5 61 44.45 44399 225
NT50-MTB1 50 MT1 25 69.85 12.065 127
NT50-MTB2 50 MT2 32 69.85 17.780 127
NT50-MTB3 50 MT3 40 69.85 23825 127
NT50-MTB4 50 MT4 48 69.85 31267 127
NT50-MTB5 50 MT5 61 69.85 44399 180

BR-30004 7:24/MT TAZ2E(HIFFEY) 7:24 TO MT ADAPTER(DRAW BAR TYPE)
7:24 NO.S
i : E___{ E J \ MT.NO. o
AR N
L
£1-Z Model No. 7:24 NO.S MT.NO. D(mm) Di(mm) d(mm) L(mm)

DIN2080.30-1W 30 MT1 25 12.065 105

DIN2080.30-2W 30 MT2 32 31.75 17.780 118

DIN2080.30-3W 30 MT3 40 23.825 155

DIN2080.40-1W 40 MT1 25 12.065 120

DIN2080.40-2W 40 MT2 32 17.780 120

DIN2080.40-3W 40 MT3 40 e 23.825 140

DIN2080.40-4W 40 MT4 48 31.267 178

DIN2080.40-5W 40 MT5 61 44,399 238

DIN2080.50-1W 50 MT1 25 12.065 160

DIN2080.50-2W 50 MT2 32 17.780 160

DIN2080.50-3W 50 MT3 40 R 23.825 160

DIN2080.50-4W 50 MT4 48 31.267 180

DIN2080.50-5W 50 MT5 61 44,399 210

£S5 Model No. 7:24 NO.S Di(mm) L(mm) D(mm)
DIN2080.30-R8 30 31.75 192 42
DIN2080.40-R8 40 44.45 167 145
DIN2080.50-R8 50 69.85 175




wt 7+ R 5

w7

TR 5

BR-30010 7:24 $4#%4F 7:24 DRILL CHUCK ARBORS BR-30012 3Z£%7]14#F END MILL ADAPTERS
MT2~MT6
[0[¢0.01[A]
NO. S
- _MT.NO.
= A WA W 2%
| | | | T | | ,3‘
L © [
S ModelNo. | D | d | L |, | E® #SModelNo.| D | d | L |, | &2 MT2A~MT6A DIN2080.30~DIN2080.50
7: 24-NO.S mm | mm | mm Wt(kg) 7: 24-NO.S mm| mm | mm Wt(kg)
DIN2080.30-J0 6350 | 99 0.313 | DIN2080.50-J6 17.170 | 184 2.739
DIN2080.30-J1 9.754 | 106 0326 | DIN2080.50-3 |g9g5|20.599 | 191 |mad 2.777
DIN2080.30-J25 13.940| 109 0.341 | DIN2080.50-J4 28.550 | 202 2.953
DIN2080.30-J2 14.199| 113 0.349 | DIN2080.50-J5 35.890 | 208 3.178
DIN2080.30-33 | 3173 [15.850] 122 | M12] 0377 | DIN2080.30-B10 10.094 | 104 0.325 . 0
DIN2080.30-J6 17.170] 122 0.388 | DIN2080.30-B12 12.065 | 108 0.330 = B | o+
) - EEER e
DIN2080.30-J3 20.599| 123 0426 | DIN2080.30-B16 |5 .[15733] 116 | .| 0372 T~ - l i = —F At
DIN2080.30-J4 28.550| 136 0.602 | DIN2080.30-B18 17.780 | 124 0393 N\ i | ] | R
DIN2080.30-J5 35.890| 145 0.827 | DIN2080.30-B22 21.793 | 133 0.460
DIN2080.40-J0 6.350 | 126 0.789 | DIN2080.30-B24 23.825| 143 0518
DIN2080.40-J1 9.754 | 133 0.797 | DIN2080.40-B10 10.094 | 132 0.801
_ ) EER d EIER d
DIN2080.40-J2S 13.940| 136 0.817 | DIN2080.40-B12 12.065 | 136 0.809 SHANK . SHANK in
DIN2080.40-J2 14.199| 141 0.829 | DIN2080.40-B16 15.733 | 143 0.848
44.45 M16 p 14
DIN2080.40-J33 | 44.45 [15.850| 145 | M16| 0.853 | DIN2080.40-B18 17.780| 151 0.869 5 516
DIN2080.40-J6 17.170| 145 0.864 | DIN2080.40-B22 21.793] 160 0.936 MT2. MT3. MT4. MT2. MT3. MT4.
10 3/8
DIN2080.40-J3 20.599| 150 0.902 | DIN2080.40-B24 23.825| 169 0.994 MT5. MT6 = MT5. MT6 12
DIN2080.40-J4 28.550| 165 1.028 | DIN2080.50-B10 10,094 170 2.684 MT2A. MT3A. MT4A. 14 MT2A. MT3A. MT4A. 5/8
DIN2080.40-J5 35.890| 170 1.303 | DIN2080.50-B12 12.065| 174 2,676 MT5A. MT6A 16 MT5A. MT6A 3/4
DIN2080.50-1 9.754 | 175 2.672 | DIN2080.50-B16 |gg g5 15.733 | 182 |pjodl 2723 e e 18 Sl RS B 1
DIN2080.5025 | o g5 [13.940] 177 | ['2692 | DIN2080.50B18 17.780| 195 2.744 DIN208050 20 DIN208050 1-1/4
DIN2080.50-J2 14.199| 180 2.704 | DIN2080.50-B22 21.793 | 200 2.811 R8 25 R8 1-1/2
DIN2080.50-J33 15.850| 184 2.728 | DIN2080.50-B24 23.825| 215 2.869 32 2
40 2-1/2

iE TTRHEEREREMRTLE

52 HintE T (A

BORUITOOLS

(A EintE T 53

BORUITOOLS



# 71 7 &R 5 w71 7 & 7
MILLING ARBOR SERIES MILLING ARBOR SERIES

BR-30014 £3x{#t7]#F SHELL END MILL ARBORS BR-30016 ;B&#EAXEETI4F COMBI SHELL END MILL ARBORS

MT2~MT6 R8 MT2~MT6

e = | —
: = 11 5 o o MT .NO 1] —

_ DIN2080.30~DIN2080.50
LR ] d
_ SHANK mm
13
16

MT2A~MT6A DIN2080.30~DIN2080.50

L MT2. MT3. MT4. MT5 22
NT30. NT40. NT50 27
- _
W/N[ e .
) J—H 40
Qﬁ% H 50
7:24 ]
iE: ITMENE EREEAR T ER
SMI.NO - ]
~ > Jf.l H oh‘: F BR-30018 B & A #t ZI+T At ATTACHMENT OF COMBI SHELL END MILL ARBORS
= eI $ ) I
L \
EER d EER d ﬂ
SHANK mm SHANK in
Pprpp——— = P —— T # T DRIVE RING i F SPANNER #24T SCREW 714 E1Z Dia of arbors
o = iy 8 DRIVE RING-13 SPANNER-13 SCREW-13 13
MT2A. MT3A. MT4A, 2 MT2A. MT3A. MT4A. 3/4 SR ERNGID SRANE TS il 8
MT5A. MT6A 27 MT5A. MT6A 7/8 DRIVE RING-22 SPANNER-22 SCREW-22 22
DIN208030. DIN208040. 2 DIN208030. DIN208040. L DRIVE RING-27 SPANNER-27 SCREW-27 27
b 40 SRR 1-1/4 DRIVE RING-32 SPANNER-32 SCREW-32 32
RS 50 RS 1-1/2 DRIVE RING-40 SPANNER-40 SCREW-40 40
60 2 DRIVE RING-50 SPANNER-50 SCREW-50 50
i ITRHE R AR R AT E R DRIVE RING-25.4 SPANNER-25.4 SCREW-25.4 254

5 4 WBHEL gy OT-%IH“#%I 5 5

BORUITOOLS BORUITOOLS



w O+ R 5 w 7 T &R 5

BR-30020 R8 Z=1£E R8 TO MS SLEEVES BR-30024 273 #!Z512%E 273 MORSE TAPER SLEEVES
L
MS. NO. S
| | ‘ (ME. NO.S)
T I /I\l L MS.NO. W —— ol
L el
l LI | MS.NO —} o] L1
L
1T8S Order No. | MS.NO.W | D(mm) | L(mm) | iT&#5S OrderNo. | MS.NO | D(mm) | L(mm)
BRS-1W 1 12.065 102 BRS-1 1 12.065 114 NOS
BR8-2W 2 17.780 105 BR8-2 2 17.780 127 1TES Order No. ME NO' S MS.NO.T L(mm) Li(mm) D(mm) d(mm)
BR8-3W 3 23.825 135 BR8-3 3 23.825 153 —
273-20/10 MS2 60 56 17.780
BRS-4W 4 31.267 218 BRS-4 4 31.267 240 7330710 1 12.065
-30/ MS3 66 23.825
273-30/20
272 Zojzo 2 70 17.780
’ - MS4 63.5 31.267
BR-30022 E[KH1ja]E MORSE TAPER SLEEVES 273-40/30 3 23.825
273-50/20 2 17.780
0. 273-50/30 MS5 3 77 70.5 44.399 23.825
oz 273-50/40 4 31.267
T | D‘ - 273-60/30 3 23.825
[ 273-60/40 MS6 4 110 103.5 63.348 31.267
- 273-60/50 5 44.399
273-04/30 3 23.825
& . 273-04/40 ME40 4 70 40 31.267
RS =) BE - :
Order No. MSNO.s | MSNO.T | D(mm) | d(mm) | Limm) | wyg) | Accuracy(mm) 273-05/30 3 23.825
BZ2-1 2 1 18 74 0.10 273-05/40 ME50 4 86 50 31.267
12.065 0015 | 21267
g;:-; 3 , 24.1 — 80 8?‘2‘ : 273-05/50 5 44399
- : : 273-06/40 .
BZ4-1 1 12.065 0.63 MEG60 d 100 60 31.367
=5 4 > 316 717780 90 T 273-06/50 5 44399
_ 273-07/40 :
BZ4-3 3 23.825 0.38 oI R — 4 = 31.267
BZ5-2 2 17.780 1.49 273-07/50 5 44.399
BZ5-3 5 3 44.7 | 23.825 110 1.36 273-08/40 4 110 31.267
BZ5-4 4 31.267 0.95 573-08/50 MES0 5 80 | 44399
BZ6-3 3 23.825 3.58 0 —
BZ6-4 6 4 @ [oagrl = 5 =i ; 6 63.348
: . 273-09/50 5 44399
BZ6-5 i e 1.95 ME90 120 90 | 44399
BZ7-5 7 83.56 195 1.69 273-09/60 6 63.348

56 Wz o 0wz 57

BORUI TOOLS



w 71 T & 5
MILLING ARBOR SERIES

BR-30026 & /115572 12E STRENGTH-DRIVEN SLEEVES

__ MS.NO.S

/

-

o

‘Tﬂ_— - MS. NO
%

BR-30030 DIN2187 fn{<Z& 1%

5N & N ]|

MILLING ARBOR SERIES

EXTENSION SOCKET WITH MS.HOLE

MS. NO. S

MSNO.TAEQ

MS. NO. S

Oﬁﬁﬁo. MS.NO.S MS.NO.T D(mm) d(mm) L(mm) Wt(%)
BSD2-1 2 17.780 12.065 92 0.10
BSD3-2 3 23.825 17.780 112 0.12
BSD4-3 4 31.267 23.825 140 0.38

BR-30028 =KL ZE (F4F2Y) MORSE TAPER SLEEVES(DRAWBAR TYPE)
— MS. NO. S
T* ? ﬁ MS.NOT _ o -
L

odeino. | MSNOS | MSNOT | Dmm) | dmm) | Lmm) |WEAcOEcH
BM2-1 2 1 17.780 12.065 108.5
BM3-1 3 1 2:3:82:5 12.065 106
BM3-2 3 2 23.825 17.780 116
BM4-1 4 1 31.267 12.065 110 e
BM4-2 4 2 31.267 17.780 120
BM4-3 4 3 31.267 23.825 140
BM5-1 5 1 44.399 12.065 136
BM5-2 5 2 44.399 17.780 136
BM5-3 5 3 44.399 23.825 148 0.02
BM5-4 5 4 44.399 31.267 176

58 H3mAE L (A

BORUITOOLS

I,( /‘) E MS,NO.T__-O.Q
L
oS MSNO.S | MSNOT | Dimm) | d(mm) | Ltmm) | yc) *ﬁg(rﬁ\fnﬁ‘)”acy
BL1-1 1 20 12.065 145 0.19
BL1-2 1 2 30 17.780 160 0.40
BL1-3 3 36 23.825 181 0.40
BL2-1 1 20 12.065 160 0.29
BL2-2 2 30 17.780 175 0.50
BL2-3 2 3 36 23.825 196 0.60
BL2-4 4 48 31.267 221 1.43
BL3-1 1 20 12.065 175 0.41
BL3-2 2 30 17.780 194 0.62 003
BL3-3 3 36 23.825 215 0.89
BL3-3A 3 3 40 23.825 215 1.10
BL3-4 4 48 31.267 240 1.55
BL3-5 5 63 44399 275 2.80
BL4-1 1 20 12.065 200 0.81
BL4-2 2 30 17.780 215 1.00
BL4-3 3 36 23.825 240 127
BL4-4 4 4 48 31.267 265 1.93
BL4-5 5 63 44399 300 3.18
BL4-6 6 85 63.348 368 6.50 0.05
BL5-1 1 20 12.065 232 1.79
BL5-2 2 30 17.780 247 2.00
BL5-3 3 36 23.825 268 227 0.04
BL5-4 > 4 48 31.267 300 2.93
BL5-5 5 63 44399 335 418
BL5-6 6 85 63.348 403 6.70 0.05
BL6-1 1 20 12.065 294 4.40
BL6-2 2 30 17.780 309 425
BL6-3 6 3 36 23.825 330 4.52 0.04
BL6-4 4 48 31.267 355 5.18
BL6-5 5 63 44399 390 6.43

(A

HImE L 59

BORUITOOLS



w71 7 &R 5 e 71 T & 5
MILLING ARBOR SERIES MILLING ARBOR SERIES

BR-30032 R8 #h#:£4F R8 DRILL CHUCK ARBORS BR-30036 fmHIZY & [REh#E4T
MORSE TAPER DRILL CHUCK ARBORS WITH DRAW BAR

7/16" 20UNF

3 4 =% 16#5L1]L: - MS. NO.W
o ‘\L ] é'—\ NO. S
L . 1/
o O pmm | Lmm) | g | e N Dmm) | Lmm) | g i |
R8-JO 6.350 117 0.393 R8-J5 35.890 154 0.742 ]
R8-J1 9.754 122 0.409 R8-B6 6.350 1185 0.250
R8-J2S 13.940 125 0.400 R8-B10 10.094 124 0.386
R8-J2 14.199 128 0.414 R8-B12 12.065 128 0.408 1TES Order No. d L | iT&S Order No. d L | iTES Order No. d L
R8-J33 15.850 132 0.418 R8-B16 15.733 135 0.440 MS.NO.W-NO.S mm mm | MS.NO.W-NO.S mm mm | MS.NO.W-NO.S mm mm
R8-J6 17.170 132 0.426 R8-B18 17.780 143 0.454 MSOW-JO 6.350 | 67 MS2W-J6 17.170 | 97 MS4W-J33 15.850 | 137
R8-J3 20.599 137 0.465 R8-B22 21.793 152 0.514 MSOW-J1 9754 | 72 MS2W-J33 15.850 | 97 MS4W-B10 10.094 | 130
R8-J4 28550 148 0.600 R8-B24 23825 162 0.567 MSOW-J2 14.199 | 78 MS2W-B10 | 10.094 | 90 MS4W-B12 12.065 | 134
- MSOW-J3 20.599 | 87 MS2W-B12 12.065 | 94 MS4W-B16 15.733 | 141
BR-30034 Eff#h#4t STRAIGHT SHANK DRILL CHUCK ARBORS MSOW-J6 17.170 | 81 MS2W-B16 | 15.733 | 101 MS4W-B18 17.780 | 149
e 10s MSOW-J33 15.850 | 81 MS2W-B18 | 17.780 | 109 MS4W-B22 21.793 | 158
i ER MSOW-B10 | 10.094 | 74 MS2W-B22 | 21.793 | 117 MS4W-B24 23.825 | 168
— MSOW-B12 | 12.065 | 78 MS2W-B24 | 23.825 | 127 MS5W-J2 14.199 | 161
“L MSOW-B16 | 15.733 | 85 MS3W-J1 9.754 | 105 MS5W-J3 20.599 | 170
MSOW-B18 | 17.780 | 93 MS3W-J2 14199 | 111 MS5W-J4 28550 | 181
T2 Order No. — D — NO.S Di(mm) MSTW-JO 6.350 | 71 MS3W-J3 20.599 | 120 MS5W-J5 35.890 | 186
530 s 70 5350 MSTW-J1 9.754 | 76 MS3W-J4 28.550 | 131 MS5W-J6 17.170 | 164
ST 3 1 9.752 MSTW-J2 14199 | 82 MS3W-J5 35.890 | 136 MS5W-J33 15.850 | 164
D-J2 10 12 14.199 MS1W-J3 20.599 | 91 MS3W-J6 17170 | 114 MS5W-B16 15.733 | 168
D-J3 3/8" 12 3 20.599 MS1W-J6 17.170 | 85 MS3W-J33 15.850 | 114 MS5W-B18 17.780 | 176
D-J4 172" 13 J4 28.550 MSTW-J33 15.850 | 85 MS3W-B10 | 10.094 | 107 MS5W-B22 21.793 | 185
D-J5 5/8" 14 5 35.890 MS1W-B10 | 10.094 | 78 MS3W-B12 12.065 | 111 MS5W-B24 23.825 | 195
B‘j§3 ;;2 ;g JJ363 :;-gg MSTW-B12 | 12.065 | 82 MS3W-B16 | 15733 | 118 MS6W-J3 20599 | 224
= b = — = MSTW-B16 | 15.733 | 89 MS3W-B18 | 17.780 | 126 MS6W-J4 28.550 | 235
e . e =5 10,094 MSTW-B18 | 17.780 | 97 MS3W-B22 | 21.793 | 135 MS6W-J5 35.890 | 240
DB12 1-1/2" B B12 12.065 MS2W-JO 6.350 | 83 MS3W-B24 | 23.825 | 145 MS6W-J6 17.170 | 218
D-B16 1-3/4" 35 B16 15.733 MS2W-J1 9754 | 88 MSAW-J2 14199 | 134 MS6W-J33 15.850 | 218
D-B18 36 B18 17.780 MS2W-J2 14199 | 94 MS4W-J3 20.599 | 143 MS6W-B16 15.733 | 222
D-B22 40 B22 21.793 MS2W-J3 20.599 | 103 MS4W-J4 28.550 | 154 MS6W-B18 17.780 | 230
D-B24 50 B24 23.825 MS2W-J4 28550 | 114 MS4W-J5 35.890 | 159 MS6W-B22 21.793 | 238
i WMEHHRITH, FiEADXLXNO.S-L. If specially order, please note:DXL 1XNO.S-L MS2W-J5 35890 | 119 MS4W-J6 17.170 | 137 MS6W-B24 23.825 | 248

60 "#5T o o "B G

BORUITOOLS



w 7T F 5

MILLING ARBOR SERIES

BR-30038 &EZ % [Rh1EH
MORSE TAPER DRILL CHUCK ARBORS WITH TANG

-
L

1782 Order No. d L | iTE%S Order No. d L | iTES Order No. d L

MS.NO.W-NO.S mm mm | MS.NO.W-NO.S mm mm | MS.NO.W-NO.S mm mm
MSO0-B6 6.350 75 MS2-B22 21.793 128 MS4-B18 17.780 164
MS0-B10 10.094 80 MS2-B24 23.825 138 MS4-B22 21.793 172
MS0-B12 12.065 84 MS2-B18S 17.431 113 MS4-B24 23.825 182
MS0-B16 15.733 91 MS2-J0 6.350 94 MS4-J0 6.350 138
MS0-B18 17.780 99 MS2-J1 9.754 100 MS4-)1 9.754 143
MS0-B22 21.793 108 MS2-J2 14.199 105 MS4-)2 14.199 149
MS0-B24 23.825 118 MS2-J3 20.599 114 MS4-J3 20.599 158
MSO0-JO 6.350 73 MS2-J4 28550 | 125 MS4-J4 28.550 | 169
MSO0-J3 20.599 93 MS2-J5 35.890 | 130 MS4-J5 35890 | 174
MSO0-J33 15.850 88 MS2-J6 17.170 108 MS4-J6 17.170 152
MS1-B10 10.094 86 MS2-J33 15.850 108 MS4-J33 15.850 152
MS1-B12 12.065 90 MS3-B10 10.094 120 MS5-B10 10.094 177
MS1-B16 15.733 97 MS3-B12 12.065 124 MS5-B12 12.065 181
MS1-B18 17.780 | 105 MS3-B16 15.733 131 MS5-B16 15.733 188
MS1-B22 21.793 114 MS3-B18 17.780 139 MS5-B18 17.780 196
MS1-B24 23.825 124 MS3-B22 21.793 147 MS5-B22 21.793 204
MS1-JO 6.350 79 MS3-B24 23.825 157 MS5-B24 23.825 214
MS1-J1 9.754 85 MS3-J0 6.350 113 MS5-J0 6.350 170
MS1-J2 14.199 920 MS3-J1 9.754 118 MS5-J1 9.754 175
MS1-J3 20.599 99 MS3-J2 14.199 124 MS5-J2 14.199 181
MS1-J4 28,550 [ 110 MS3-J3 20.599 | 133 MS5-J3 20.599 | 190
MS1-J5 35.890 116 MS3-J4 28.550 144 MS5-J4 28.550 | 201
MS1-J6 17.170 94 MS3-J5 35.890 149 MS5-J5 35.890 | 206
MS1-J33 15.850 94 MS3-J6 17.170 127 MS5-J6 17.170 184
MS2-B10 10.094 | 101 MS3-J33 15.850 127 MS5-J33 15.850 184
MS2-B12 12.065 | 105 MS4-B10 10.094 | 145 MS6-B16 15.733 | 250
MS2-B16 15.733 | 112 MS4-B12 12.065 | 149 MSé6-J3 20.599 | 252
MS2-B18 17.780 120 MS4-B16 15.733 156 MS6-J6 17.170 | 246

s Tl
62Ty

wt 7+ R 5

MILLING ARBOR SERIES
BR-30040 #24745##F MORSE DRILL CHUCK ARBORS

__MS.NO.S
g

L2

L1

1ITES
Order No. MS.NO.S L(mm) | Lilmm) | L2(mm) | D(mm) | d(mm) M
MS1-3/8"-24UNF 83 135 24 3/8"-24UNF
MS1-1/2"-20UNF 1/2"-20UNF
85 15.5 27
MS1-M12X1.25 M1 62 12.065 M12X%X1.25
MS1-5/8"-16UNF 88 17.5 29 5/8"-16UNF
MS2-M10 X1 o7 13.5 24 M10X1
MS2-3/8"-24UNF ’ 3/8"-24UNF
MS2-M12X1.25 100 155 57 M12X1.25
MS2-1/2"-20UNF MS2 ) 75 17.780 1/2"-20UNF
MS2-M16X 1.5 M16X1.5
MS2-5/8"-16UNF 103 17.5 29 5/8"-16UNF
MS2-5/8"-20UNF 5/8"-20UNF
- X
MS3-M10X 1 116 135 24 M10X1
MS3-3/8"-24 3/8"-24UNF
MS3-M12X%X1.25 MS3 119 155 94 57 23,825 M12X%X1.25
MS3-1/2"-20UNF ) ’ 1/2"-20UNF
- X 1.
MS3-M16X 1.5 122 175 29 M16X1.5
MS3-5/8"-16UNF 5/8"-16UNF
MS4-M12X1.25 MS4 145 15.5 117.5 31.6 31.267 M12X%X1.25
BR-30042 FHrzXt24r$h#EFF MORSE DRILL CHUCK ARBORS
<}MS. NO.W
,? = I%rd S zlo
L1 L2
L
gt D L L1 L2 D1
iT#-S Order No. e MS.NO.W il By et e M )
MS2W-3/8"-24UNF 24 88 13.5 3/8"-24UNF
R XT.
MS2W-1/2"-20UNF 27 o 91 o 15.5 ey 1/2"-20UNF a0z
MS3W-3/8"-24UNF 24 MS3W 105 81 13.5 23.825 3/8"-24UNF M12X1.75
MS3W-1/2"-20UNF 27 108 15.5 1/2"-20UNF

(A #3mE L 63

BORUITOOLS



5N R i | w 71 T & 5
MILLING ARBOR SERIES MILLING ARBOR SERIES

BR-30044 £ 71T ST BR-30048 BT##iZE$E7]4F SHELL MILL ARBORS
SCREW FOR SHELL END MILL ARBORS

MAS. BT

L1

TES M _J‘Eﬁﬁ Tl ERE D L iTES M @EFH JJHE& D L
Order No. Dia of arbors(mm) mm mm Order No Dia of arbors(in) mm mm mm
SD-Mé6 M6 13 17| 18| SD-1/4-28 1/4"-28 1/2 16.7 21 1TES Order No. D EE 1T Order No. D =S
SD-M8 M8 16 200 22| sp-3/824 | 3/8-24 5/8 3/4 27 27 BTXd-L1 W(kg) BTXd-L1 Wi(kg)
SD-M10 | M1 22 28] 25| sp-1220 | 17220 7/8 1 304 33 ggg i ;g'gg i(z) : 'g Exgi‘s‘g';g ;g ;;
SD-M12 M12 27 35 30| SD-5/8-18 5/8"-18 1-1/4 38.1 39 BT30 X 27-60 48 15 BT50 X 16-60 32 36
SD-M16 M16 32 42 35| SD-3/4-16 3/4"-16 1-1/2 474 45 BT30X32-60 58 18 BT50 X 16-75 32 3.9
SD-M20 M2( 40 52 40| SD-1-12 1"-12 2 63.1 52 BT30 X 40-60 70 2.2 BT50 %X 16-120 32 43
SD-M24 M24 50 63 48| SD-1-1/4-12 | 1-1/4"-12 2-1/2 69.85 55 BT40 X 16-45 32 1.0 BT50%22-60 40 5.0
SD-M30 M3( 60 75 53 BT40X 16-60 32 1.3 BT50X22-75 40 4.0
BT40X16-120 32 1.7 BT50X22-100 40 4.5
BR-30046 E*ﬁ EI\%*IU]H: BT40 X% 22-45 40 1.5 BT50X%22-120 40 5.0
BT40Xx22-60 40 1.7 BT50X%27-60 48 5.5
STRAIGHT SHANK MILLING MACHINE ARBORS BT40X22-100 20 3.0 BT50X 27-105 48 40
BT40X22-120 40 3.6 BT50X32-60 58 45
BT40 X% 27-45 48 1.5 BT50X%32-75 58 1.6
BT40Xx27-60 48 1.6 BT50X32-105 58 1.8
5 © BT40Xx27-75 48 1.8 BT50 X 40-60 70 2.2
BT40X27-105 48 2.1 BT50 X% 40-75 70 3.6
BT40X%27-120 48 2.3 BT50X40-90 70 3.7
BT40 X% 32-45 58 1.2 BT50X%40-100 70 3.75
BT40X%32-60 58 1.5 BT50X40-105 70 3.8
% o i BT40Xx32-75 58 1.8 BT50X50-60 90 40
olrzliﬁo. ch(in) d(in) L(mm) O‘%ﬁﬁo. ch(in) din) | L(mm) BT40 % 32-120 58 2.8 BT50% 50-70 90 4.2
BT40 X 40-60 70 2.0 BT50X 50-120 90 4.4
DG1/2-1/2 1/2 DG3/4-1/2 1/2 - — - — - —
DG1/2-5/8 58 102.4 DG3/45/8 /8 108.7 1. TTMBHEERRIMEFRER R, MEFO#kSEZ8M k2RI, 15+RRAAD/BE!, #NBT40AD/BX32-60,
2. IRIBFEMRENFE M, FRERBEAHG6.3/12000rpm, FZHEE AG2.5/20000rpm, iTHIETE FRH B E,
VAPl 175 3/4 105.6 peiad 3/4 e 111.9 1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
DG1/2-7/8 7/8 DG3/4-7/8 7/8 please mark AD/B.
DG1/2-1 1 1119 DG3/4-1 1 1183 2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the
DG1/2-1-1/4 1-1/4 DG3/4-1-1/4 1-1/4 precise precision is G2.5/20000rpm.

64 WHET ¢y Qo HHET 65

BORUITOOLS BORUITOOLS



5 R & ]| wt 7+ R 5

MILLING ARBOR SERIES MILLING ARBOR SERIES
BR-30050 DIN#4#=E Kt 714F SHELL MILL ARBORS BR-30054 #{#57:24%52% 7:24 TAPER SLEEVES

DIN69871. A

M — I
B

DIN69871

\\

mm
1T#2 Order No. D =8 1755 Order No. D E§ o) 1
DIN69871.AXd-Ln Wt(kg) DIN69871.AXd-Ln Wt(kg)

DIN69871.A30 X 16-60 32 1.0 DIN69871.A40X 27-75 48 1.6

DIN69871.A30 X 22-60 40 1.3 DIN69871.A40 X 32-60 58 4.5

DIN69871.A30 X 27-60 48 1.5 DIN69871.A40 X 40-60 70 4.8

DIN69871.A30 X 32-60 58 1.8 DIN69871.A50% 16-60 32 3.8

DIN69871.A30 X 40-60 70 2.2 DIN69871.A50% 22-60 40 4.0

DIN69871.A40 X 16-60 32 1.2 DIN69871.A50% 27-60 48 4.2

DIN69871.A40 X 22-60 40 13 DIN69871.A50% 32-60 58 4.5

DIN69871.A40 X 27-60 48 1.4 DIN69871.A50 %X 40-60 70 4.8

1. {THERREERRTIRARAER R, WF Ok SEZ2N RS EIRI TR, IEHRAAD/BEY, f1DIN69871.40AD/BX22-60.

2. IRIBFEMRMUENFE M, REBEAG6.3/12000rpm, EFZHEE 4G2.5/20000rpm, ITHEHEEATEE. ’
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, mm
please mark AD/B.
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise iTES Order No. A= iTE = Order No. T=E
precision is G2.5/20000rpm. DIN69871.AX7:24-L1 D D L Figure BTX7:24-L 1 D D L Figure
DIN69871.A40X1S030-50 | 127.4 | 50 |44.45 3 BT40X1S030-50 | 1244 | 50 | 4445 3
BR-30052 #{#ZR8%12E R8 TAPER SLEEVES DIN69871.A40X1S040-100| 179.4 | 63 |44.45| 2 | BT40XIS040-100 | 176.4 | 63 | 44.45| 2
el DIN69871.A50X1S030-50 |160.75| 50 | 69.85 1 BT50%1S030-50 | 160.8 | 50 | 69.85 1
= W — DIN69871.A50X1S040-70 |182.75| 70 | 69.85 2 BT50Xx1S040-70 | 1828 | 70 | 69.85 2
- | = [ e g{ 2 DIN69871.A50X1S050-120|235.75| 97 | 69.85 2 BT50X1S050-120 | 2358 | 97 | 69.85 2

92412

st
tﬂjﬂ_ E: 1 REENFIRIMEERN ST ENNAEET
- s 2. REE2FRH TIRERNEREIRERST, TWRHMERSTIE TN
3. REEBFRITIMIERNELEMKHET, TR MFR$TIEIER
Note:1. See figure 1,when the arbor being used,it is necessary to fix inner hex screw.

= 2. See figure 2,when the arbor bein used,it is necessary to fix standard knob,please note when order it.
T2 Order No. L D T8 % Order No. L D 3. See figure 3,when the arbor being used, it is necessary to fix extension knob,please onte when order it.
BT X R8-L 1 BT XR8-L 1
BT30XR8-115 163.4 31.75 BT40 X R8-95 160.4 44.45
BT30XR8-135 183.4 S5 BT40XR8-100 165.4 44.45
BT30XR8-150 198.4 31.75 BT40 X R8-130 195.4 44.45
BT40XR8-75 140.4 4445

66 T o It T 6 7

BORUITOOLS BORUITOOLS



wt T+ F 5 wt 71 T F 7

MILLING ARBOR SERIES MILLING ARBOR SERIES
BR-30056 HSK (AZ!) ER%tJI#% ER COLLET CHUCK BR-30058 HSK (AZ!) 3z$t7]#F END MILL HOLDER

/1 (/‘
’ £ o -

L2

L1

mm mm
'LT-%-":'? Order No. ;E?#jﬁ L 12 D d1 T l—]'i'-? Orzer No. L L2 L3 L4 D di1 T
HSK.AXER-L1 clamping range HSK.AXd-L1
HSK50AX6-65 90 39 18 — 50 25 M6X1.0
HSK40AXER20-80 1-13 100 60 40 34 M10X1.5 HSKS0AXB65 % 39 18 — %0 58 MBX1 25
HSK40AXER25-80 1-16 100 60 40 42 M10X1.5 HSK50AX10-65 90 39 20 — 20 35 M10X15
HSK50AXER16-80 1-10 105 54 50 28 M10X1.5 HSK50AX12-80 105 54 22.5 — 50 42 M12X1.75
HSK50AXER16-100 1-10 125 74 50 28 M10X1.5 HSK50AX14-80 105 54 22.5 — 50 44 M12X1.75
HSK50AXER25-80 1-16 105 54 50 42 M16X2.0 HSK50AX16-80 105 54 24 — 50 48 M14X2.0
HSK50AXER25-100 1-16 125 74 50 42 M16X2.0 HSK50AX18-80 105 >4 24 — 30 50 M14X2.0
HSK50AXER32-100 2-20 125 74 50 50 M16X2.0 HSK50AX20-80 105 >4 2 _ >0 >2 M16X2.0
HSK63AX6-65 97 39 18 — 63 25 M6X1.0
HSK50AXER32-120 2-20 145 94 50 50 M16X2.0 HSKG3AXB65 97 39 18 — 3 58 BXT 25
HSK63AXER16-80 1-10 112 54 63 28 M10X1.5 HSK63AX10-65 97 39 20 — 63 35 M10X15
HSK63AXER16-100 1-10 132 74 63 28 M10X1.5 HSK63AX12-80 112 54 225 — 63 42 M12X1.75
HSK63AXER25-80 1-16 112 54 63 42 M16X2.0 HSK63AX14-80 112 54 22,5 — 63 44 M12X1.75
HSK63AXER25-100 1-16 132 74 63 42 M16X2.0 HSK63AX16-80 112 54 24 — 63 48 M14X2.0
HSK63AXER25-120 1-16 152 94 63 42 M16X2.0 HSK63AX18-80 112 >4 24 — 63 50 M14X2.0
HSK63AXER32-80 2-20 112 54 63 50 M16X2.0 HSK63AX20-80 112 >4 25 _ 63 >2 M16X2.0
HSK63AX25-110 142 84 24 25 63 65 M18X2.0
HSK63AXER32-100 2-20 132 74 63 50 M16X2.0 HSKE3AX32-110 o) 84 " 58 &3 = V20X2.0
HSK63AXER32-120 2-20 152 94 63 50 M16X2.0 HSK100AX6-80 130 51 18 — 100 25 MEX1.0
HSK63AXER40-80 3-26 112 54 63 63 M20X2.0 HSK100AX8-80 130 51 18 == 100 28 M8X1.25
HSK63AXER40-100 3-26 132 74 63 63 M20X2.0 HSK100AX10-80 130 51 20 — 100 35 M10X1.5
HSK63AXER40-120 3-26 152 94 63 63 M20X2.0 HSK100AX12-80 130 51 225 = 100 42 M12X1.75
HSK100AXER25-100 1-16 150 71 100 42 M16X2.0 HSK100AX14-80 130 51 22.5 — 100 44 M12X1.75
HSK100AXER25-120 1-16 170 91 100 42 M16X2.0 sl il L5l A = = L i il lly
HSK100AX18-100 150 71 24 — 100 50 M14X2.0
HSK100AXER32-100 2-20 150 71 100 50 M16X2.0 HSK100AX20-100 150 — ~ — — = NTENeI0
HSK100AXER32-120 2-20 170 91 100 50 M16X2.0 HSK100AX25-100 150 71 2 75 100 65 M18X2.0
HSK100AXER40-100 3-26 150 71 100 63 M20X2.0 HSK100AX32-100 150 71 24 28 100 72 M20X2.0
HSK100AXER40-120 3-26 170 91 100 63 M20X2.0 HSK100AX40-100 150 71 30 32 100 90 M20X2.0




"~ " R I
R EIJM[LL[NGARBOR SERIES MILLING ARBOR SER[ES%.E 7 w7 &5

BR-30060 HSK (AZ!) &3x#t7]#F SHELL END MILL HOLDER BR-30062 HSK (AZ) R&#HEAX#E7]4F COMBI-SHELL END MILL HOLDER

¢
Pany IJJ‘IL — min
1:10 B ] L
L
! L
mm mm
1TEE Order No. iTE S Order No.

HSK.AXd-L1 L L2 D di ki k2 HSK.AXd-L1 L L2 D di
HSK40AX16-50 87 17 40 38 3.8 8 HSK50AX16-50 92 17 50 32
HSK40AX22-60 99 19 40 47 4.8 10 HSK50AX22-50 94 19 50 40
HSK40AX27-60 101 21 40 58 5.8 12 HSK50AX27-65 111 21 50 48
HSK40AX32-60 104 24 40 66 6.8 14 HSK50AX32-65 114 24 50 58
HSK50AX16-50 92 17 50 38 3.8 8 HSK63AX16-60 109 17 63 32
HSK50AX22-60 104 19 50 47 4.8 10 HSK63AX22-60 111 19 63 40
HSK50AX27-60 106 21 50 58 5.8 12 HSK63AX27-60 113 21 63 48
HSK50AX32-60 109 24 50 66 6.8 14 HSK63AX32-60 116 24 63 58
HSK63AX16-50 99 17 63 38 3.8 8 HSK63AX40-70 129 27 63 70
HSK63AX22-50 101 19 63 47 4.8 10 HSK100AX22-60 127 17 100 32
HSK63AX27-60 113 21 63 58 5.8 12 HSK100AX27-60 129 19 100 40
HSK63AX32-60 116 24 63 66 6.8 14 HSK100AX32-60 131 21 100 48
HSK63AX40-60 119 27 63 82 8.3 16 HSK100AX40-60 134 24 100 58
HSK100AX22-50 119 19 100 47 4.8 10 HSK100AX50-70 147 27 100 70
HSK100AX27-50 121 21 100 58 5.8 12 HSK100AX50-80 160 30 100 90
HSK100AX32-50 124 24 100 66 6.8 14
HSK100AX40-60 137 27 100 82 8.3 16
HSK100AX50-70 150 30 100 95 9.7 19

/0 BHRI o O wRL 7]



# 71 7 &R 5 m x % 7
MILLING ARBOR SERIES CENTER SERIES

BR-30064 HSK (AZ!) 2£12E MORSE TAPER ADAPTER BR-40002 [EETiisx DEAD CENTER

[ . MS.NO
- ) 60
L2 L
mm TES D L 2 s
= - Order No. MS.NO. mm mm Wt(kg) Accuracy(mm)
iT8S Order No.
HSK AXMS-L1 L L2 D di d2 DG1 MS1 12.065 80 0.057
HSK50AXMS1-100 125 74 50 25 12.065 DG2 M52 17.780 100 0.150
HSK50AXMS2-120 145 94 50 32 17.780 DG3 M53 23825 125 0.334
HSK50AXMS3-140 165 14 50 40 23.825 DG4 MS4 31.267 160 0.746 0.010
HSK63AXMS1-100 132 74 63 25 12.065 DG5 MS5 44.399 200 1.862
HSK63AXMS2-120 152 94 63 32 17.780 DG6 MS6 63.348 270 4.925
HSK63AXMS3-140 172 114 63 40 23.825 DG7 MS7 83.061 360 8.620
HSK63AXMS4-160 192 134 63 48 31.267
HSK100AXMS1-110 160 81 100 25 12.065
HSK100AXMS2-120 170 91 100 32 17.780 BR-40004 :&#tTrise HALF-NOTCHED CENTER
HSK100AXMS3-150 200 121 100 40 23.825
HSK100AXMS4-170 220 141 100 48 31.267
HSK100AXMS5-200 250 171 100 63 44.399
- MS. NO
u s T\
L
TS MS.NO. D h L g2 BE
Order No. mm mm mm Wt(kg) Accuracy(mm)

DH1 MS1 12.065 7.6 80 0.057

DH2 MS2 17.780 1 100 0.150

DH3 MS3 23.825 15.05 125 0.334

DH4 MS4 31.267 20.8 160 0.746 0.010

DH5 MS5 44.399 29.35 200 1.862

DH6 MS6 63.348 41.9 270 4.925

DH7 MS7 83.061 53.78 360 8.620

a0

(A E3mE L

BORUI TOOLS

/3



m %R % 3 m xR % 7

BR-40006 fEfE& & FwTHse CARBIDE HALF-NOTCHED CENTER BR-40010 M11 & 1FZ [E4ETiZ PRECISION LIVE CENTER
__Ms.NO
— 5 \ =
_ - Lt
L L
e hi h D L & . ITES MS. L D L1 d Di =AEE(kg) | RIREEE(rpm) | HEE(mm)
132
Order No. MS.NO. mm mm mm mm Wt(kg) Accuracy(mm) Order No. | NO. mm | mm| mm | mm mm Max Load Max Speed Accuracy
M11/101 | MS1 | 124 27 1 12. 7 01
DHET MS1 13 > 12.065 80 0.06 M1 1;1 gz M:2 139 z: 34 23 17 (7)23 18:)0 7223 : (?05
DHE2 MS2 2 6 17.780 100 0.15 : :
M11/106 | MS3 | 1765 | 60 | 47 25 | 23.825 400 5000 0.005
DHE3 M53 3 2 23825 125 034 M11/108 | MS4 | 217 | 70 | 53 32 | 31.267 500 3800 0.005
DHEA M54 > 123 31.267 160 0.71 0010 M11/110 | MS5 | 273 | 90 | 65 40 44'399 1200 3000 0.005
DHES M55 ! 16 44.399 200 1.78 M11/114 | MS6 | 3545 | 105 | 78 50 63.348 2500 2600 (; 01
DHE6 MS6 10 22 63.348 270 5.00 : : :
DHE7 MS7 12 24 83.061 360 8.30
BR-40012 &% %8 E%ETise PRECISION LIGHT-DUTY LIVE CENTER
BR-40008 ##F&&Tise CARBIDE CENTER
L1
SN [ J
60° p
= —_——$!- ——(60°>o| O
Ly il Y
MS.NO. *
L 7 o
L
TS MS.NO D L d i = BE iTRES | MS. L D L1 d D ZEHEFN) | WIREE(rpm) | FEE(mm)
Order No. PR mm mm mm mm Wt(kg) Accuracy(mm) OrderNo. | NO. | mm | mm| mm | mm | mm | MaxRadialLoad] MaxSpeed | Accuracy
DE1 MS1 12.065 80 12.2 8 0.057 DM311 MS1 | 115 | 34 | 203 18 | 12.065 320 5000 0.005
DE2 MS2 17.780 100 18 8 0.151 DM312 | MS2 | 1296 | 45 | 286 | 25 |17.780 400 5000 0.006
DE3 MS3 23.825 125 24.1 12 0.335 DM313 | MS3 | 161.7 | 52 | 325 | 28 |23.825 800 4500 0.006
DE4 MS4 31.267 160 31.6 15 0.746 0.010 DM314 | MS4 [ 1917 | 60 | 36,5 | 32 |31.267 1250 3500 0.006
DE5 MS5 44.399 200 44.7 18 1.826 DM315 | MS5 | 2445 | 80 | 50.8 | 45 |44.399 1500 3000 0.006
DE6 MS6 63.348 270 63.8 24 5.230 DM316 | MS6 | 3505 | 130 | 748 | 75 |63.348 1800 2500 0.006
DE7 MS7 83.061 360 83.555 24 9.190 DM317 | MS7 | 4235 | 130 | 748 | 75 |83.061 2200 2000 0.006

74 HintE T (A (A EimfE T 75

BORUITOOLS BORUITOOLS



m xR % 3 m xR % 7

CENTER SERIES CENTER SERIES
BR-40014 HEE$TA% MEDIUM-DUTY LIVE CENTER BR-40018 &iiE AT EHTAR

HIGH-SPEED MEDIUM-DUTY MULTI-PURPOSE LIVE CENTER

L1

—

ITES | MS.| L L1 D D d ZEEHRFN)  |RRFEE(rpm)| EE |HBE(mm) s 5 o - - .
OrderNo. | NO.| mm | mm| mm | mm | mm | Max Radial Load| Max Speed |Wt(kg)| Accuracy
D411 | MS1| 115 | 20 | 34 [12.065| 18 900 5000 0.29 0.01 L E F
D412 |Ms2| 145 | 26 | 45 [17.780| 25 1500 5000 0.70 0.01 -
D413 | MS3| 170 | 30 | 52 [23.825| 28 2000 4200 0.93 0.01 o
D414 | MS4|205.7 | 347 | 60 |31.267| 32 3200 3200 170 | 0.01 1755 Order No. MS.NO. D mm D1 mm L1 mm L mm
D415 | MS5| 254 | 45 | 77 |44399| 45 6300 2400 339 | 0015 HD432 Ms2 48 17.780 69 127
D416 | MS6| 362 | 68.5 | 125 |63.348] 75 10000 1600 12.00 | 0.015 HDA433 MS3 54 23.825 86 153
D411L | MS1| 125 | 30 | 34 [12.065| 18 900 5000 0.31 0.01 HD434 MS4 63 31.367 109 182
D412L | MS2| 155 | 36 45 |17.780| 25 1500 5000 0.74 0.01 HD435 MS5 83 44.399 136 217
D413L | MsS3| 183 | 43 | 52 [23.825| 28 2000 4200 0.99 0.01
D414L | MS4| 222 | 51 | 60 |31.267| 32 3200 3200 1.80 | 0.1 MS.NO. A B C D E F
D415L | MS5| 272 | 63 | 77 |44.399] 45 6300 2400 3.62 0.015 L D|L|D|d|L|D|d|L|D|d|L|D|d|L|D
D416L | MS6| 382 | 885 | 125 [63.348| 75 10000 1600 1269 | 0.015 2 26 [10.2(285/102| 8 | 29 |102| 65 |275[102| 5 | 25 [102| 8 | 30 | 28
3 32 [12.75| 35 [12.75| 10 | 36 [12.75| 8 | 34 [12.75| 6 | 31 [12.75| 10 | 37 | 34
BR-40016 FEEEEHE E4:Tns CARBIDE MEDIUM-DUTY LIVE CENTER 4
5 39 |15.7| 44 |157| 12 | 45 |157| 10 | 42 |157| 8 | 43 |157| 12 | 48 | 40

BR-40020 ARE![EIFTAK(MN<E!) MEDIUM-DUTY LIVE CENTER(EXTENDED)

L1

\

di
41
I

|
d
D

~_ MS.NO
=

L1

jgae [Ms.| L [ u | d | b o | @ | @Ko |mmsmEepm) | mEmn) L
OrderNo.|NO.| mm | mm | mm | mm| mm | mm Max Load Max Speed Accuracy iTE#2 Order No. | MS.NO. | Limm D mm DI mm Do mm L mm E 8 Wt(kg)
D412A | MS2| 145 26 25 45 [17.780| 12 1500 5000 0.010 D412B MS2 28.5 40 17.780 18 141 0.84
D413A | MS3| 170 30 28 52 |23.825| 15 2000 4200 0.010 D413B MS3 36.5 45 23.825 22 168 0.91
D414A | MS4| 205.7 | 347 | 32 60 |31.267| 18 3200 3200 0.010 D414B MS4 36.5 45 31.267 22 190 1.62
D415A | MS5| 254 45 45 77 | 44399 | 24 6300 2000 0.015 D415B MS5 62 78 44.399 40 267.5 3.43
D416A | MS6| 362 | 68.5 75 125 | 63.348| 40 10000 1600 0.015 D416B MS6 75 102 63.348 50 346.5 11

76 LE;E%*%I o o EIE T 77

ORUITOOLS BORUITOOLS



m R % 7% g E X & %

CENTER SERIES INDEX FIXTURE SERIES
BR-40022 ¥HEAIEIF AL PRECISION HEAVY LIVE CENTER BR-50002 5C I757%% 5C COLLET BLOCK SET
_J

_MsN0 - Q
R e s i i N O S R \ ‘,4 - @ | : //\\ /\
| !c T W

70

44,45

TEeE |[MS.| L D | Li d Di ZEMEFENN)  |RREErpm)| 22 |FEE(mMm) FZEHARSH Main Technical Parameter 5MEZRST Outer size(in)
OrderNo. |[NO.| mm | mm| mm | mm| mm | MaxRadial Load] Max Speed |Wt(kg)| Accuracy % LMAE Square for 5C collets 1-3/4X1-3/4X2-3/4

DM511 | MS1|109.6 | 38 | 185 16 | 12.065 1400 3600 0.29 0.008 F 3L E Hex for 5C collets 1-3/4X 1-3/4X 1-3/4 X 2-3/4

DM512 | MS2| 1285 | 48 24 22 | 17.780 3500 3400 0.39 0.01 % 3 £ F 4% Quick acting lever collet closer 1-11/16 X 4

DM513 | MS3| 156 | 58 | 285 | 25 |23.825 5500 3200 1.09 0.01 F8 Wikg) 141kg

DM514 | MS4|1925| 68 | 31.5 | 28 |31.267 8000 3000 1.69 0.01

Complete set in wooden case consists of one square block,one hex block,one handle and one collet close
DM516 | MS6|342.5| 130 | 64 63 | 63.348 15000 1500 11.61 0.015

BR-50004 5C k& 5CFIXTURE

B4
L
1TE#5 Order No. 3911-125-5C-00
T Round El¥L 1~28mm 3/64"~1-1/8"
e Square WA 7L 3~19mm 1/8"~3/4"
Clamping rang -
Hex 737 FL 3~22mm 1/8"~7/8"
D (mm) 126
Do (mm) 95
L (mm) 107.2
=& Wt(kg) 4.5

ZEESSCRLERG, AXRBAREZNTASRIHE, ARETER, BRREECTHREL, BEHES, ®BER

&, ERA%RE, REFEFEMRS

5C collet is fit for this device,which can clamp tool or workpiece with different diameter and figure.lt can be fixed

on lathe, grinder and other special equipment,with such features as high precision,easy operation,safe application,strong
clamping,etc

78 w0 o #HIz 79

BORUITOOLS



g BE *x % %

INDEX FIXTURE SERIES

BR-50006 PF70/5C i& & 43 sk PF70/5C SPIN INDEX

o m [

g

!

70

236

1TE#S Order No. PF70/5C
Ful 5 Height of centre 70mm 2-3/4"
= 4 $8 T 12 51 [E Bk 30 Radial run-out of spindle outer taper 0.010mm 0.0004"
: LALZEEE  fgh g 98"4k
Radil run—qu'fmoTchilgr Ezaﬁz(ffiﬁ::;sgmiﬁ::oi)25mm/0.98") 0.03mm 0.0072"
F it O IT R E A9 1T Parallelism of centre line of spindle to base surface 0.02mm 0.0008"
B4 EfE4 E#5E Individual spacing dividing accuracy 4

ASERAIARMER, WATILASPF70/5CTRARE EE R (F £ MITH),

This unit can be used separately or to complete a set with PF70/5C type centre(purchased specially)

BR-50008 PF100B/5C 3iZElM& 4343 FE 3k
PF100B/5C HORIZONTAL VERTICAL COLLET INDEX

100

198

200

1TES Order No. PF100B/5C
f & Height of centre 100mm 3-15/16"
F 4 k4247 Thread of spindle nose 2.25"-8

FE O FLIE [ E Bk ah (2 E Hhim25mm/0.98"4t)
Radial run-out of center hole of spindle(measured from spindle nose 25mm/0.98")

0.02mm 0.0008 "

F ihih B SR RYIHE BEEN End surface run out of the spindle” s support shoulder

0.0Tmm 0.0004"

F i O REAYFEITE Parallelism of centre line of spindle to base surface

0.02mm 0.0008"

B EfE 4 BiRZE Dividing accuracy individual spacing error +3
1.7#172. 30 4. 6. 8. 12. 245/ HE, HEXKFNBEABLBEFGRAKS, BFER), E2%, ZEMA,

2. ARG ELFRMER, WA 5PF100TRRE S E A (FLMITER).

1. With indexing specifications of 2. 3. 4. 6. 8. 12 and 24 indexes.It has operational and vertical applications
and has such unique properties as smaller dimension lighter in weight,durable high strength.

2. This unit can be used singly also can complete with PF100 center(purchased specially).

S0 BHEL o

5

* & 7

INDEX FIXTURE SERIES

BR-500010 F12Z! 75 &4 £k SEMI-UNIVERSAL DIVIDING HEAD

FHEENEIZE SN ES L, ARITEE. BENS
E, TiE. #. SMINT, THEY, BEBEREHER
RESTEESKTARE. EESEREE247LE 0 2 ERRF T
2. 3. 4. 6. 8. 1R2fN24EHnE, BI3INEES
EEAI#IT 2 ~50% 53 R51~380FHEHF 7 E.

Semi-Universal dividing head is a simple type of univer-
sal index center and can be used for direct and indirect
dividing.No accessories for the differential dividing and
spiral work are included,but the whole construction of the
dividing head is identical with the universal type.The di-
rect index plate of 24 holes allows the direct dividing in

2. 3. 4. 6. 8. 12and 24 three plates in the standard
accessories make the indirect dividing possible in any number
from 2 to 50 and in certain numbers up to 380.

o

Hi

3]

4y & 3 SEMI-UNIVERSAL DIVIDING HEAD

bt

TES Tl | =ZMFE | E&£(kg)
Order No. A B H h a b 9 Spindle hol¢  Chuck N.W
F12100 193 131 173 100 166 90 16 MS3 100 21
F12128 254 175 200 128 210 | 114 16 MS4 130 36
R EETR SR TAIL-STOCK
ITES
Order No. Al B1 H1 h al b1 g1
F12100 193 131 173 100 166 920 16
F12128 254 175 220 128 210 114 16
374 B 224y FE 7L 3 Number of holes dividing plate A,B,C
Plate A 15 16 17 18 19 20
Plate B 21 23 27 29 31 33
Plate C 37 39 41 43 47 49

(A HImE L 81

BORUITOOLS



BETEOHRT
PRECISION VISE SERIES
5% TEFO%H THE PRECISION TOOL VISES

H 1. RAMRRE & EHIREIE TEmEEHRC58~62

# %k H 7
BORING HEADS SERIES

BR-60002 F1 ZY$E7]#% TYPE F1 BORING HEADS
1. Made of high-quality alloy steel.The hardness of

""0 2.F17E0.005mm/100mm, EE E0.005mm working surface reaches HRC58~62
] [ w =] \—~ 3REIR, BRERE Parallelism 0.005mm/100mm
) ‘ " _% A ALBRTRENEMRE BEEY REXE squareness 0.005mm
. : S5ETEM L. By, FHEARFESNEZE 3. Quickly to clamp and easy to operate
w ' 3 f_' 4. Used for precision measurement and in spection
precision grinding,EDM and wire-cutting machine
A= D H B TIFERZ 22 s B 72 5. Guarantee high accuracy in any position
Model No. mm | mm Max offset | Boring bordia| Min graduation| Dia of Bring BR-70002 QGG #%t5% TEEO%H PRECISION TOOL VISES
F1-1/2 50 61.6 5/8 " 1/2" 0.001" 3/8"°-5" A2 B H Smax L EE
F1-3/4 75 80.2 1 3/4" 0.0005" 17279 Model No, mm mm mm mm | Wt(kqg)
F1-1 100 93.2 1-5/8 " 1" 5/8 "-12.5 QGG50 50 25 65 155 3.0
F1-12 50 | 616 16mm 12mm 10-125mm 3 ' ; = QGG60 | 60 25 55 110 | 24
F1-18 75 | 802 25mm 18mm 0.0Tmm 12-225mm \' H QGG63 | 63 32 85 190 | 3.8
F1-25 100 93.2 41Tmm 25mm 15-320mm QGG73 73 35 100 210 5.0
QGG80 80 40 100 220 6.5
BR-60004 F1 Z!§% 774K F1 BORING SHANK = ; e * e B L
=1 QGG100 100 45 125 260 13.0
_ " E"_% N QGG125 | 125 50 160 300 | 195
_ s o1 i QGG125A 125 50 210 350 23.0
) = d 'n }M QGG150 | 150 | 50 175 | 315 | 2338
! : ‘ i q I \:UIL BR-70004 QKG #%#% THEFOsH PRECISION TOOL VISES
L .
- : 8BS B H Smax L BEE
Model No; mm mm mm mm | Wt(kg)
Z1S Model No. |###&B Shank| L(mm) | #8245 M Z1S Model No. |#%&8 Shank| L(mm) | 24 M QKG25 26 9.15 22 65.4 0.5
F1-MT2-M MT2 93 F1-32-M 32 117 QKG36 36 20 40 100 1.2
F1-MT3-M MT3 108 F1-40-M 40 117 ;%FH = . QKG38 38 20 44 105 1.3
F1-MT4-M MT4 110 F1-5/8-M 5/8" 97 N . QKG50 50 25 65 140 2.0
F1-MT5-M MT5 128 F1-3/4-M 3/4" 112 See / QKG63 63 32 85 175 3.0
F1-MT6-M MT6 133 7/8"-20 F1-7/8-M 7/8" 127 7/8"-20 QKG73 73 35 100 190 4.1
F1-R8-M R8 154 [1-12"-18 | F1-1-M 0 137 [1-1/2"-18 QKG80 80 40 100 200 55
F1-NT30-M NT30 160 F1-1-1/4-M 1-1/4 ° 167 o QKG83 88 40 125 235 73
F1-NT40-M NT40 186 F1-1-1/2-M 112 " 197 QKG100 | 100 45 125 245 10.0
F1-NT50-M NT50 214 F1-1-3/4-M 1-3/4 227 i < QKG125 | 125 50 160 285 | 18.0
F1-16-M 16 117 BT40XM-45 BT40 1224 == QKG150 | 150 50 200 330 | 215
F1-20-M 20 117 DIN69871.40XM-40| DIN69871.40  120.4 . : QKG150A| 150 50 250 380 | 230
F1-25-M 25 117 CAT40XM-50 CAT40 130 QKG150B| 150 30 300 430 | 240

SN

(A T%ﬁfﬁ%’ﬁ}%’l’? 83

BORUITOOL

o



15

#Z 0O &R7

PRECISION VISE SERIES

BR-70006 ## & F % PRECISION MODULAR VISES

Smox

e

00 ],
00 —7
TS B H Smax L wmAFKEF(Kg)
Order No. mm mm mm mm Clamping force
GT100- | 100 30 100 270 3000
GT125- | 125 40 150 345 3000
GT150A- 1 150 50 200 420 5000
GT150B- [ 150 50 300 520 5000
GT150C- 1 150 50 400 620 5000
GT175A- 1 175 60 200 455 6000
GT175B-1 175 60 300 555 6000
GT175C- [ 175 60 400 655 6000
GT175D-1 175 60 500 755 6000
GT175E-1 175 60 600 855 6000
GT200A- 1 200 65 200 495 10000
GT200B- [ 200 65 300 595 10000
GT200C- | 200 65 400 695 10000
GT200D-1 200 65 500 795 10000
GT200E- 1 200 65 600 895 10000
GT300A- [ 300 80 200 535 12000
GT300B-1 300 80 300 635 12000
GT300C- [ 300 80 400 735 12000
GT300D-1 300 80 500 835 12000
GT300E- [ 300 80 600 935 12000
GT300F- 1 300 80 700 1035 12000
GT300G- [ 300 80 800 1135 12000

84 E3miE L

BORUITOOLS

PRECISION VISE SERIES

F O sH & 5

BR-70008 ZXQGG #%#5% Eix TEF O PRECISION SINE TOOL VISE

1. RBEREEEMNEE, 2RLERBZEH, F1TE0.005mm/100mm, #EEHE0.005mm
2. FREZRE, AIATAEEBHSE
1. Made of high-quality alloy steel,after heat,precision ground,parallelism 0.005mm/100mm, squareness 0.005mm
2. Available inspecting angles and processing workpices with angle
. M ==
=l =
T B H Hr Smax L L1 AR ESEE
Order No. mm mm mm mm mm mm in Adjustable angle range
ZXQGG50 50 25 86.6 60 140 4
ZXQGG63 63 32 94.6 85 175
ZXQGG73 73 35 111 90 190 100
ZXQGG80 80 40 121 95 200 5 0~45°
ZXQGG88 88 40 125 120 235
ZXQGG100 100 45 139.2 125 245
ZXQGG125 125 50 154.2 160 285 200
ZXQGG150 150 50 160.9 190 330 200 10
BR-70010 ZXQKG A%|#5% E5z T EF O3 PRECISION SINE TOOL VISE
-5
FEL_D p
ST )
L1
L
ITES B H H Smax L L AEREEE
Order No. mm mm mm mm mm mm in Adjustable angle range
ZXQKG50 50 25 79.36 65 140 4
ZXQKG63 63 32 92.36 85 175
ZXQKG73 73 35 104 100 190 3
ZXQKG80 80 40 117 100 200 5 0~45°
ZXQKG88 88 40 122 125 235
ZXQKG100 100 45 134.08 125 245
ZXQKG125 125 50 144.08 160 285 200
ZXQKG150 150 50 150.9 200 330 200 10

(A #3mHE L 85

BORUITOOLS



BR-70012 HIREEFRZAS FOH

5% FEOHRT

PRECISION VISE SERIES

PRECISION MODULAR VISES WITH SWIVEL BASE

18
PRECISION VISE SERIES

Z I OH RS

BR-70014 ##% & FO%H PRECISION MODULAR VISES

Bk, BRIETE

1RARRE &SNS
2F47E0.005mm/100mm, EEE0.005mm
3T EREEEHRC58-62, RHELIEEIF

A BBAIFRIKE. BE#HO. Ezh0O, *

5. ZAF I LEEBIR

1.Made of high-quality alloy steel
2.Parallelism 0.005mm/100mm,squareness 0.005mm
3.The hardness of working surface is HRC58-62 and precision

ground to a mirror finish

4.It have interchangeable base,fixed/movable jawsit is quickly

to clamp and easy to operate
5.1t is widely used on machining center and other precision

machine tools

A e T = =
:
I — |
L
OO
0% 00
NSl
iTRE B H Smax L = RFKET(Kg)

Order No. mm mm mm mm Clamping force
GT100-11 100 30 100 270 3000
GT125-11 125 40 150 345 3000
GT150A-11 150 50 200 420 5000
GT150B-11 150 50 300 520 5000
GT150C-11 150 50 400 620 5000
GT175A-11 175 60 200 455 6000
GT175B-11 175 60 300 555 6000
GT175C-11 175 60 400 655 6000
GT175D-11 175 60 500 755 6000
GT175E-11 175 60 600 855 6000
GT200A-11 200 65 200 495 10000
GT200B-11 200 65 300 595 10000
GT200C-T1 200 65 400 695 10000
GT200D-11 200 65 500 795 10000
GT200E-11 200 65 600 895 10000
GT300A-11 300 80 200 535 12000
GT300B-11 300 80 300 635 12000
GT300C-T1 300 80 400 735 12000
GT300D-11 300 80 500 835 12000
GT300E-T1 300 80 600 935 12000
GT300F-11 300 80 700 1035 12000
GT300G-1I 300 80 800 1135 12000

Smax
S = A B .
— oo | [T
B S B H Smax L RAKEZT(Kg)

Model No. mm mm mm mm Clamping force
GT853118 100 30 100 270 3000
GT853119 125 40 150 345 3000
GT853120 150 50 200 420 5000
GT853165 150 50 300 520 5000
GT853170 175 60 200 455 6000
GT853171 175 60 300 555 6000
GT853172 175 60 400 655 6000
GT853173 175 60 500 755 6000
GT853174 175 60 600 855 6000
GT853176 200 65 200 495 10000
GT853177 200 65 300 595 10000
GT853178 200 65 400 695 10000
GT853179 200 65 500 795 10000
GT853180 200 65 600 895 10000
GT853190 300 80 200 535 12000
GT853191 300 80 300 635 12000
GT853192 300 80 400 735 12000
GT853193 300 80 500 835 12000
GT853194 300 80 600 935 12000
GT853195 300 80 700 1035 12000
GT853196 300 80 800 1135 12000

SoEian Lo

(A EImE L

BORUI TOOLS

87



B O A D F 7 B R 5

CLINITI LK OLINNILED INDEX FIXTURE SERIES
- e BR-80002 PB161 & F 4Tt PRECISION PARALLEL BLOCK
BR-70016 HREERFNKNIFHAHS T OH o
QUICK ACTION PRECISION MODULAR VISES WITH SWIVEL BASE 1.5 E: HRC55~62 1.Hardeness HRC55~62
24EE: £0.01mm 2.Accuracy 0.01lmm
S 3.F47E: 0.005mm 3.Parallelism 0.005mm
7] =
8BS Mtk 5
N — Model No. LXWXH Pcs
“ 100X5X 16,100 X 6% 18,100 X 8 X 24,
%‘ 100X 10%X30, 150X12X36,
D + ‘ PB161 9X2
" Moro 22 - e 150X 14X 48, 150X 18X 60,
N 2 150X 22X 62,200X31X15%2.5(30° )
RS B H Smax L R ARES(Kg) BR -80004 PB150 # F471t PRECISION PARALLEL BLOCK
Order No. mm mm mm mm Clamping force
1.8 E: HRC55~62 1.Hardeness HRC55~62
GT125-IV 125 40 150 345 3000 24EE: 0.01mm 2.Accuracy 0.01mm
GTI50A-IV 150 50 200 420 5000 3.FFTE: 0.005mm 3.Parallelism 0.005mm
GT150B-IV 150 50 300 520 5000
s & H5
GT175C- 175 60 400 655 6000 = o
v Model No. LXWXH Pcs
150X 10X 14(16,18,20,22,24,
PB150-1 14X2
26,28,30,32,35,40,45,50)
150X 8X14(16,18,20,22,24,
PB150-2 14X%X2
26,28,30,32,35,40,45,50)
80X4X14(16,18,20,22,24,
PB150-3 14X2
26,28,30,32,35,40,45,50)
200X 10X 14(16,18,20,22,24,
PB150-4 14X2
26,28,30,32,35,40,45,50)

BR-80006 PB151 Z!F 173k PRECISION PARALLEL BLOCK

1.78E: HRC55~62 1.Hardeness HRC55~62
245E: 0.0Tmm 2.Accuracy 0.0Tmm
3.E1TE: 0.005mm 3.Parallelism  0.005mm

s A% 5
Model No. LXWXH Pcs
PB151-1 | 100X4x10(14,18,22,26,30,34,38,42,) 9x%2

= PB151-2 | 160X4X10(14,18,22,26,30,34,38,42,) 9X2
PB151-3 | 150X 8.5X14(16,20,24,30,32,36,40,44) 9X2
PB151-4 | 150X 10X 14(16,20,24,30,32,36,40,44) 9X%2

(1L

Iz
88 T o BEET L0

BORUITOOLS BORUITOOLS




FOIT R R

5

PARALLEL BLOCK SERIES

BR-80008 PB153 Z!F {73k PRECISION PARALLEL BLOCK

1.5 E: HRC56~62
245E:0.0lmm
3. 47 E: 0.005mm

B
=

1.Hardeness: HRC56~62
2.Accuracy: 0.01mm
3.Parallelism: 0.005mm

s
Model No,|

Mt
LXWXH

H#
Pcs

PB153-1

125X 8X11(16,21,26,31,36)

125X 10X 13(18,23,28,33,38)
125X12X15(20,25,30,35,40)
125X14X17(22,27,32,37,42)

24X2

PB153-2

150X 8X%X11(16,21,26,31,36)

150X 10X 13(18,23,28,33,38)
150X 12X%15(20,25,30,35,40)
150X 14X17(22,27,32,37,42)

24X2

BR-80010 PB154 #! 47t PRECISION PARALLEL BLOCK
1.Hardeness: HRC55~62

1.5 E: HRC55~62
2.48E:0.0lmm 2.Accuracy: 0.0Tmm
3. 47 E: 0.005mm 3.Parallelism: 0.005mm
2= & 5%
Model No. LXWXH Pcs
150X 8% 16(18,20,22,24,26,28,30,
PB154-1 18 X2
32,34,36,38,40,42,44,46,48,50)
150X8%17(19,21,23,25,27,29,31,
PB154-2 18 X2
33,35,37,39,41,43,45,47,49,51)

BR-80012 PB155 Z! 17t PRECISION PARALLEL BLOCK

1HE:
2HEE:

HRC55~62
0.01Tmm

3.F4TE: 0.005mm

90 EImEL (A

BORUITOOLS

1.Hardeness HRC55~62
2.Accuracy 0.0Tmm
3.Parallelism 0.005mm

B & 5%
Model No. LXWXH Pcs
120X 10X 14(16,18,20,22,24,
PB155-1 ( 12X2
26,28,30,32,35,40)
150X 10X 14(16,18,20,22,24,
PB155-2 ( 12X2
26,28,30,32,35,40)

& a3

EDGE FINDER SERIES

BR-90002 »:rR 3 iiA28 ELECTRONIC EDGE FINDER

1IZf £ X8R
2LIEARBREEMEIE
3R RIFEZEH
4.F4H#E0.01Tmm

1.Touch point LED indication
2.Manufactured from high quality alloy steel
3.Hardened and precision ground
4.Concentricity 0.0Tmm

10

|

BR-90004 /1328 MECHANICAL EDGE FINDER

1.Mechanical edge finder for quick and easy location of round or flat work

1.HF BN, F i A9k EE L
2.3% A B M HliE

3fERAAE

43K IEAER, Wi

5.4 EZ0.005mm

2.Manufactured from high quality steel
3.Easy to use

4.Quick and accurate

5.Concentricity 0.005mm

CBQ-00C
s S
3) <
= S
N7 82
89
CBQ-00A CBQ-00D
g 3 o
@|_D Sl bl N
W ey ] e L
N7 75 N7 75
89.5 B = 15| I
89.5
CBQ-00B CBO-00E i
s 10 5 10,
U e S s S el
82.5 82.5

(a) R 91

BORUITOOLS



H T

z 75l

OTHER ACCESSORY SERIES

BR-100002 DIN317 #r #1428 MORSE SHANK PULLER

A5 Model No. MT.NO L(mm) H(mm)
e DIN317/0 MTO 90 12
T DIN317/1-2 MT1 MT2 140 20
DIN317/3 MT3 190 25
DIN317/4 MT4 225 30
I (o % DIN317/5-6 MT5 MT6 265 35
L

BR-100004 DIN318 % Bzh#$k HALF AUTOMATIC MORSE SHANK PULLER

m Z1= Model No. MT.NO &4 Overall Length
DIN318/1-3 MT1 MT2 MT3 317
DIN318/4-6 MT4 MT5 MT6 380

BR-100008 i#H/E4/T  HYDRAULIC SOFT CLAWS

OTHER ACCESSORY SERIES

E

&

ZREAHERIFHRERRER, RIERE, AHEN

The morse shank can easy to be pulled off by the half-automatic morse shank puller. Operation quickly,saving time and

pressure

BR-100006 7]##$ii7JEE VERTICAL HORIZONTAL TOOL HOLDER DEVICE

8= TIRHEE SMEZR~F BEE
Model No. | Taperof Tool Holder Outsize(mm) | Weight(kg)
LD-BT30 BT30 205%X98.5%X128 3.70
LD-BT40 BT40 205X 98.5%X128 3.80
LD-BT50 BT50 275X150X198 11.40
LD-DT30 DIN69871.30 205X98.5X128 3.70
LD-DT40 DIN69871.40 205X98.5X128 3.80
LD-DT50 DIN69871.50 275X150% 198 11.40
LD-CAT30 CAT30 205%98.5%X128 3.70
LD-CAT40 CAT40 205%X98.5%X128 3.80
LD-CAT50 CAT50 275X150X198 11.40

92 EHEAT.¢y

_—H_7—_
1.5P _
—| H-6 =— H i—H—B—— ——H—E——I
WAYVRiE=E
y H-3
60° l
H-9 H-5 el g
&/ R~ ¥ £ B | BEE | #ER he6 FutFLEE heg e | EERITEE
MODELS/DIMENSION  h-1 h-2 h-3 h-4 h-5 h-7 h-9 h-10
CS05 62 25 30 10 4 10 14 38 M8 | 1.5X60°
CS06 73 31 36 12 5 15 20 38 M10 | 1.5%X60°
Cso8 95 35 38 14 5 24 25 46 M12 | 1.5%X60°
CS10 110 40 42 16 5 30 30 50 M12 | 1.5%X60°
CS12(h=) 129 50 50 21 6 39 30 60 M16 | 1.5%X60°
CS12S(HER) 129 50 50 18 6 39 30 60 M14 | 1.5%X60°
CS15(Hh =) 165 62 62 22 8 37 43 85 M20 | 1.5%X60°
CS12S(Hsk) 165 62 62 | 255 5.3 37 43 85 M20 | 1.5%X60°

application,strong

(A HintE T 93

BORUITOOLS





